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Topic:- Grad_Nutrition and Health

1) Mid upper arm circumference is a useful indicator of nutritional status and

helps to rule out:/ AT FUI gig ot uRkfY, vy fRAfT &1 v Iuaift Jhas g 8k
P WIS HA § AR 3:

1. Muscle wasting/ Ul &
2. Body weight and bone weight/ TRR & YR T4 3R & YR

3. Metabolic age/ BRI ER|| 3
4. None of these/3T0 ¥ &I Tal

Correct Answer :-

« Muscle wasting/ U=H &

2) Protein content of mal-nourished pregnant mother can be increased by?/

PuIfta mfadt arar d wid= # 7 ERT 9¢T3 o qHd! 8-

1. Strained grained meat and fish both/ & g311 gMeR A9 9 g, gl

2. Soups of mashed dal/ T2 g8 a1 & gU
3. Addition of skim milk/ HaTs 3SR Y
4. All of the above/3udad I+

Correct Answer :-

« All of the above/3udad I+

3) is the process by which individuals immune system becomes
fortified against an agent know as immunogen./ __ EIEL‘Iﬁ)‘HT e
mw%muﬁ?% &l 7, RRATS (SAGH) T Tole & [ios Tapd g Wi &,
___ gdrd



1. Active Immunity/ g ufaren

2. Passive Immunity/ fAfspa gfaren

3. Immunization/ UfcR&®R0l

4. None of the above/ B’CPQIHH pei: | aﬂ's‘qﬁ

Correct Answer :-

« Immunization/ UfaRefHRor

4) Which amino acid is deficient in cereals?/ 3rTSn ® fpg sriAY et &t
gidl 82

1. Methionine/ A==

2. Tryptophan/ E@'an_vf

3. Lysine/ AARE

4, Phenylalanine/ﬁv‘ﬁﬁwﬁq

Correct Answer :-

. Lysine/ AR

5) Studies have shown that consumption of fruits rich in ascorbic acid with
major meals can improve:/&rﬂm:ﬁ' T udr I % & T WISl & 91y E‘\‘Tﬁﬁﬂ? 3T
¥ 9% Bal & 99 9 o JUR 3 gHaT @

1. Haemoglobin levels/ B Arcife & TR
2. Cholesterol levels/ PRI b TR

3. Triglycerides levels/ ;I%li?ﬂli 38 b TR
4. None of the above/ IWRIGd & ¥ &5 8l

Correct Answer :-

« Haemoglobin levels/ g qrdied & WY

6) Dietary intervention to relive morning sickness should be:/ Wﬂﬁ

ITHETSYT A Ed &1 & BRI QU # &1 g1 9rfge?

1. Dry carbohydrates food like crackers/ q® ®Tagrage W Uerd o hd

2. Low sodium diet/ &H TITSTH aTal 38R
3. Antacid/ TUeTe (Ufdsna)

4. Intravenous fluids/3:RRIT (SUCTdY) R




Correct Answer :-

« Dry carbohydrates food like crackers/ ﬁ'@ wldelq\\ic Qg Uerd o Hdhy

7) Elders who have limited access to food, living alone, low income and poor

transport facilities are vulnerable to:/ 5 g =fdaal & ur mﬁﬁﬂaﬁmﬁauﬁa
Bidl 3, S 3rbat ¥ed 8, ForTat oma &H gl 3 SR fore ur ufvae &t wr1e glaurg gt
Td__ & v oM@ ¥4 7

1. Protein energy malnutrition/ IR Wﬁw
2. Energy malnutrition/ 3ol U0l

3. Protein malnutrition/ Ul $UIyul

4. None of the above/SWRIad ¥ ¥ &5 el

Correct Answer :-

« Protein energy malnutrition/ O SHoll W

8) The maternal body supplies nutrients to the foetus, through special life

support systems:/ HTdT &1 IRIR AR shiaT snurdt ot & areaw d M=y Ry 3t
U9 dadl B MYfd a1 81 98 9 &

1. Placenta/ 3/OR1/SSISNH (&¥ieT)

2. Amniotic fluid/ 33 TRd (THAICH Fags)
3. Umbilical cord/ AR (FTHATa)

4. All of the above/3udad I+

Correct Answer :-

« All of the above/GCPjTﬂ ekt

9) Standard precautions to be adopted to prevent spread of pathogens in
spreading tuberculosis infection include./ Wﬁm T e aral

ITSD BT BATd AP & Y oAt 1= arelt wee |rauf-=ay & i 6:

1. Hand hygiene/ BT B Dl

2. Proper personal protective equipment/ 3fad AfadiTd GRET SUDRUT

3. Respiratory hygiene and cough etiquette/ 43 Tl Tawsal adT Wi~ =i PR
4. All of the above/ B“Cl?ifﬁ gt

Correct Answer :-

« All of the above/ B“Cl?ifﬁ gt



10) Vaccine contraindicated in Pregnancy is:/ PI-9T difi= THiawr § fAiftrg 82
1. OPV

2. Influenza/ TURIUSIT

3. Rubella/ el

4. Tetanus/ﬁf_rm

Correct Answer :-

« Rubella/ Tdcl

11) What are the measures that can help in shaping food behavior of school

child%en?/ﬁmﬂtﬁaiﬁ%mﬁmmwﬁwﬁWaﬁﬁﬁﬁ-ﬁmws‘r
TPhd 82

1. Ensure the child gets adequate servings of fruits, vegetables and dairy products/

gAa &3 {5 9= &) yaia aen & wd, aferdr ik gy I firdt

2. Teaching the impact of different foods on health/ W | fafa @& gerdf & UHTd &
R H dH

3. Inculcate good eating habits/ QMH-Ulq D DI 3fad Rarr

4. All of the above/3udad It

Correct Answer :-

« All of the above/Gq?jEH gt

12) What is essential for meeting nutritional needs of essential fatty acids
like alpha linolenic acid and linoleic acid?/3[TdRg® ddT \’rl'liﬁ, o TethT INGIRIGED
3| e foifae era anfe #t dirwor wia=h smaxgwarst & ufd & e @ smazas @2

1. Lipids (Fats/oils)/ iU (aw/da)
2. Carbohydrates/ Wﬁ@ﬁga

3. Proteins/ udH

4. Vitamins/ faeTiam

Correct Answer :-

« Lipids (Fats/oils)/ [fUs (awm/da)

13) If the mother's diet is qualitatively and/or quantitatively inadequate, it

will: / Ife ATaT BT MBI UM a1 HIEATHS €8 | ATIiw g af 98:



1. Limit foetal growth and development/ MRy ﬁmgaﬁ Q’@ 3R faerg &) Hftrg w3

2. Enhance growth/ gfg 9@Iu
3. Enhance development/ IEEARECHIR
4. Enhance outcomes,/UfRUMH FGIE

Correct Answer :-

« Limit foetal growth and development/ Wlmﬁl‘{[aﬁ qf& 3R faerg &) Hftrg H= am

14) Low birth weight is due to a number of factors including:/ W & THY YR
U g1 & NS $3 R 8 TPd ¢ ford M 8:

1. Age of the mother/ HIdI Gl 3
2. Multiple births/ T& ¥ 31 T4

3. Improper/inadequate prenatal care of the mother/ HTdl &1 I a1 3Uaf U¥a-gd

4. All of the above/ I0dad i

Correct Answer :-

« All of the above/ ITad it

15) Hepatitis A is caused due to:/g0crsfed A P PRI AT 8:
1. Feacal contamination/ H& I<VU

2. Contamination of food/ HIS JgyUl

3. Contamination of water/ Sicl VU

4. A bacteria called serum hepatitis/ I3 gUcIslcy AH® Th GﬂHTlI[

Correct Answer :-
« Feacal contamination/ Hd d<YU

16) A mineral important for good development of bones and teeth is:/ T®h

@fere ot fRpl 9 afal & o=y fasra & fog agayt 2-
1. Selenium/ daif-ad

2. Iron/ 3RRA

3. Calcium/ SRR

4. Copper/afl'W



Correct Answer :-

« Calcium/ dferas

17) The recommended energy and protein for preschoolers (1-3 yrs) as per

ICMR 2010 is-/ ICMR 2010 & IR d-fagmedt a=f (1-3 awf) 3g et ud Wi ot
IR SMeRty Srgufd § -

1. 1060 kcal - 16.7 grams/1060 f@albaRt - 16.7 UH
2. 1400 kcal - 20.0 grams/1400 f&alidaRt - 20.0 719
3. 1660 kcal - 16.7 grams/1660 falidaR! - 16.7 a9

4. 1360 kcal - 20.0 grams/ 1360 fFaibaR! - 20.0 I

Correct Answer :-

. 1060 kcal - 16.7 grams/1060 fFalbaR! - 16.7 UH

18) Low protein diet during pregnancy leads to?/ THIGRIT & R HH WA arad
TR & HRUI T gl 382

1. Nutritonal edema/ TIVUT =i TSHAT

2. Cause anemia/ Yadleddl (q:ﬁlﬁm

3. Effect milk secretion during lactation/ ¥4l & CTRI-I gy Hd ol gHTfad Eﬁ'"ﬂ
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ ITdad i

19) Pellagra is primarily due to deficiency of:/ U@l Hd: I FHI A

Eﬁ?ﬂ %:
1. Riboflavin/ Jsaudifa—
2. Nicotinic acid/ F®ifefR® s

3. Thiamine/ 4GHA

4. Pantothenic acid/aﬁaﬁﬁ 3R]

Correct Answer :-

« Nicotinic acid/ R@ifefe 3

20) Complete the following NNMB:/ NNMB &1 Q3T -TH ¥dTU:



e

1. National Network Management Bureau/ SYFd Hedd AHe &ie\l (Q‘I‘@HWW

)

2. National Nutrition Monitoring Bureau/ Fel A AR SR (AP Givor R
)

3. National Nutrition Management Board/ ERIE rq\gﬁl-‘zld AaoHe 918 (TI@T{W Ud=+
aikug)

4. None of the above/ B’CI?E[HH ¥ PIs T8

Correct Answer :-

- National Nutrition Monitoring Bureau/ <¥Hd ¢TI AR &G0 (IETY U0 FRTH
)

21) Which of the following is not supplementary feeding program?/ 3H 9
DI ATRP 3R BTAHA 81 82

1. Balwadi feeding program/ EHT'IEIKSDI 3TER HTHH

2. Mid-day meal program/ AT&a U HTdHH

3. Sampoorna gramin Rojgar Yojana/ 'HTE{\UT IO ASATR o1
4. ICDS

Correct Answer :-

« Sampoorna gramin Rojgar Yojana/ ETELUfﬂTﬁﬂ'W ISR ST

22) Adults nutritional requirements vary with: /30%H| B GI90T =N TazaHarg
& IR S-S Bidt &

1. Body weight, age and sex/ IR & YR, Mg 9 fof
2. Physical activity/ IR Tfafafdr

3. Physiological state/ YRR fhard® R

4. All of the above/B’q?j,EH ekt

Correct Answer :-

« All of the above/GCPjTﬂ ekt

23) Most of the weight gain during pregnancy occurs in the: /THIGRIT & R
4R # aftrpier gfF # gt @

1. First trimester/ U’E!Fﬁ ﬁl'ﬁl'l'eﬂ
2. Second trimester/ g@lil |?|1=II€




3. Both of the above/ RERCSEAR
4. Third trimester / iR} faAmgt

Correct Answer :-

« Both of the above/ IWRIad i

24) Which of the diseases cannot controlled by vaccination?/EﬁWWUT T DA
It drarfeal & At T8 forar s gean

1. Polio/ giferar

2. Measles/ @I}

3. Diptheria/ fefifa
4. Anemia/Q‘ﬁﬁl’qT

Correct Answer :-

« Measles/ @I

25) From the 33"9 week of gestation till full term, a healthy mother should
have prenatal check up every:/ ﬂ‘{-ﬁﬂ@ﬂ % 33d e § AP q:Uf JHY & YH9d do,
W UTdT &I P a1 W Y9aYd Sird H1d 78T a1 eu?

1. Weekly once/ 9wig # U dR
2. 0Once in two weeks/fﬁﬂl?ﬂér H Uh dRR
3. Once in three weeks/ diF 98 H T R

4. Once in four weeks/ IR T8 H Th TR

Correct Answer :-
« Weekly once/ ¥« § T aR

26) The first sign of pregnancy is usually:/ THTTRIT $T UgdT Tdbd ATHAR W HT

BT &:

1. A missed menstrual cycle/ ATRT® %Iff=|%°f ST
2. Immediate weight gain/ q¥d HR de-T

3. Nausea/ S¥@Tg

4. Brittle nails/HTR ARG

Correct Answer :-

« A missed menstrual cycle/ ATRI® ¢ Tt 3T



27) Increasing the amount of sugar in ORS formula:/ ORS BIYd ® &HRT B ATAT
geq I 1 s

1. Worsen diarrhea/ &% 3R forTg Sment

2. Increases nutritive value/ ILERE G de ST

3. Dangerous/ dg WdRAl®H E?f SITET

4. None of the above/ IWRiad & ¥ BIs ol

Correct Answer :-

. Worsen diarrhea/ &% 3R fofTg Sm@l

28) Discoloration of teeth is caused by a kind of antibiotics called:/

1. Penicillin/ OfRfer

2. Streptomycin/ LPHRRA
3. Tetracycline/ CIITAfd
4, Neomycin/ﬁ?ﬂmﬁﬂ

Correct Answer :-

. Tetracycline/ el

29) All are true about measles except:/ TR & G H 390 4 fF4 SisH? AV
gt T 32

1. Sub clinical infection/ &UTgIA JehHUI
2. Incubation period of 10 to 14 days/10 ¥ 14 &l 1 IThaad 3@y
3. More severe in malnourished/ Wﬁ?ﬁﬁ 3feen iR

4. Secondary attack rate of 30%/fgda® 3MHHAU &R 30%

Correct Answer :-
« Secondary attack rate of 30%/fgda® 3MHHAT R 30%

30) What are the functions of food?/ HISH & &I HTY &2

1. Maintenance of life and protection/ Sg HTIH G GﬁTW&I’UT

2. Growth and development/ 3f< 3R fawm™



3. Functioning of vital organs and production of energy/ ﬂ%@lﬁ[ﬂf 3T &1 frareiarar aut
Sl BT I

4. All of the above/ I0dad i

Correct Answer :-

« All of the above/ I0ad i

31) The recommended dietary allowance for protein for a pregnant woman

as per ICMR 2010 is:/ ICMR 2010 & 3R THadt Tt 3g Wi &t erRifea
MY 3rgHfa B:

1.78 g / day/78 W/faA
2.58 g / day/58 T/feA
3.50 g / day/50 T1/fé

4,55 g / day/55 Ui/faq

Correct Answer :-

. 78 g / day/78 W/feA

%2) Incubation period for mumps is:/ B?UWH/WGIT (A7) Bt IMMega srafy

1. 10 days/ 10 faq
2. 18 days/18 fa7
3.5 days/5 fa

4. 14 days/ 14 fea

Correct Answer :-

. 18 days/18 f&A

33) Modifiable risk factors in case of Hypertension include all, except:/ 3=

w%mﬁﬁaﬁﬁﬁzﬁgmmvﬁﬁﬁmﬂﬁ@ﬂwﬁmmm
?

1. Alcohol intake/ W CARCE

2. Age/ Sl
3. Obesity/ HiemdT

4. Salt intake/H % &1 Aa

Correct Answer :-



34) Which factors affect malnutrition?/ P-U PRSP ?tﬂ'q'UT P YHTIId Bd 82
1. Food availability and food accessibility/ HISH &1 Iuasdr GﬁTﬁFﬂ-I?IT

2. Ecological and environmental factors/ UIiRd-a1g Td GalaRuitg &R

3. Economic and pathological conditions/ e g o Rufaat

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

35) Infectivity of chickenpox last:/ Bl 9@ (FReuTRT) $t Ghraddl
TEdl §

1. Till the last scab fall offs/ 3TRR TTS! IR 9H d&
2. 6 days after appearance of rash/ qar fauq @& 6 fad a1g d®
3. As long as fever last/ 9§ d&® @R @ dd ddb

4. 3 days after appearance of rash/gaR fe@- & 3 fg9 a1 d&

Correct Answer :-

« 6 days after appearance of rash/ GaR f¢@q & 6 &7 91 a&

36) As per ICMR 2010 what are the dietary allowances for vitamin C for an

expectant mother?/ ICMR 2010 & 3HR, Tad! Tt & foe faer¥@ ¢ ot s
SrgHfe fpai 82

1. 60 mg / day/60 fom/fea
2.45 mg / day/45 fim/feq
3.55 mg / day/55 fa/feA
4.40 mg / day/40 fean/fed

Correct Answer :-

« 60 mg / day/60 forn/faa

37) Under five clinic are meant for?/ Uid § &9 (3(USI BI5d) Fil~1P fp-d fow
Fd 82

1. Immunization/ AfaReftemr



2. Nutrition education center/ TYUT fR1eT &5
3. Both of the above/ SWRIad &l

4. Pregnant mothers/ e

Correct Answer :-

« Both of the above/maﬁ E|

38) They play an important role in the regulation of the metabolic activity in
the body and help in utilisation of the proximate principles:/ d IR § TATI=g
nfafafy & Frawaor & aeayet e v § ok e ga awl & Suahfieu &
TeTaar 3 §

1. Vitamins/ faeTie=

2. Minerals/ @f-ef

3. Vitamins and Minerals/ faerfem ok @faw
4. None of the above/IWRIad & ¥ 15 g1

Correct Answer :-

« Vitamins and Minerals/ facIftm 3R @f e

39) The following is a list of symptoms of nutritional deficiency disorder, tick
one correct related to scurvy:/ = WY FAaT faprRl & @&or faw 7e &1 98 @&
T4 o Wl & i 8:

1. Crack on lips/ HEkal W:IT/@@f RN
2. Spongy bleeding gums/ ot J—I{-‘@; 3R I IadFd gl
3. Mental changes/ AFRY% ufkadq

4. Rashes on skin/dl U Gan

Correct Answer :-

. Spongy bleeding gums/ Tot TYg 3R 3T &G g

40) Smallpox was eradicated because of the following factors except:/ 394 d

fPd BISH 3 BRBI b BRI AdqD (FTTUIRT) BT S & U U1?
1. Long incubation period/ ! RAega 3rafy

2. Extra human reservoir control/ 3ffdfiked AMd Y8R a0

3. Potent vaccine/ Ifaa=mel daiie

4. Easy to recognize/ Uga™ H IRad




Correct Answer :-

« Extra human reservoir control/ 3fdRad AT HSR a7

41) Which of the following vaccine was introduced most lately?/ Ja3 g #

370 q DI-IT IR U g 82
1. Rubella/ 3adr

2. Measles / WI3I

3. Pertusis/ TR
4. Mumps/HUTHARNY/TAG ST (FIL)
Correct Answer :-

« Rubella/ 3adl

42) Vaccine which requires most stringent condition for storage:/ fpg arii=

& HUSRY & forg wad w91 fRufaai =nfae?
1. BCG
2. OPV
3.DPT

4. Tetanus toxoid/ ¢caY CidgIsS

Correct Answer :-

« OPV

43) Green leafy vegetables and fresh fruits are good sources of:/ B UReR
gferat ik a9 B BT ST AT B

1. Dietary fibre/ 3TERIT I
2. Protein/ UIeH

3. Fat/ 991

4. Cyanocobalamin/Jra-ie araria-

Correct Answer :-

« Dietary fibre/ STERIT X

44) Puerperium period of women last from:/ R4l &1 UgATaRIT (YTaARPIE) B
3afy g -



1. End of labor to six week after that/ Udd P! U T dHR I 91 & B BINIEGED
2. During the process of Natural birth/ UTdfad Ud &1 Ufehdr & R

3. During last trimester of Pregnancy/ TYTaRT ot i< faATE! & SRM

4. All of the above/3udad I+t

Correct Answer :-

« End of labor to six week after that/ U9d &I JHING A ABR ST dI¢ & &: WG dPb

45) Major epidemics of influenza A occur at intervals of:/ STRIIST A 3 T81
TR ¥ I~RTd R Had! &

1. 2-3years/2-3 qy
2. 10-15years/10-15 99
3. 20-25years/20-25 94

4.1 year/1 CL

Correct Answer :-

» 20-25years/20-25 GL

46) The peripheral worker of ICDS scheme is:/ ICDS Tio{l & ufvdg Prdwdl g
1. Trained dais/ UiRM&d qrgai

2. Anaganwadi workers/ 3TTETS! HRIG AT

3. Balwadi workers/ W@W

4. Health guide/ IdRY AN [GR[P

Correct Answer :-

« Anaganwadi workers/ 3{TTETS! HRIG T

47) Which of the following is an advantage of breastfeeding?/ TH 9 ﬁ'—r,
U $T TP 1Y 82

1. Breast milk is perfectly suited to the baby's nutritional needs/ ATdl &1 gy fRIg] &1
UIyur Tieft sfaxgshdrstt & e smeef 0  Iuyed g §

2. It contains maternal antibodies and immunological cells that stimulates immune
system of babies/ 3UH HIdT § U YUCIEIS! Td UfaRe HIRHTE gict € S R & uforen o
B! I BT &

3. Breast fed babies have fewer allergies/ ATl & g4 TR U RIaf &1 Tafswal &1 gidl &
4. All of the above/B'q?jHH gt




Correct Answer :-

« All of the above/B'q?iEH ekt

48) Susceptible host is the host who has the immunity:/ Jguriie uitl ag urdt 8
forad uferem grrar gt @:

1. Yes/ Bf

2. No/ gt

3. May be/ Mg

4. None of the above/39dad # ¥ HIs g

Correct Answer :-

- No/ gl

49) A major nutritional problem affecting young children leading to blindness

is:/gﬁ%aﬁﬁulmmﬁmﬁwm,ﬁwwﬁmﬁmmwaﬁ
SITdl 8:

1. Iron deficiency/ 3R &I HH!

2. Vitamin C deficiency/ faei#q C &1 &4t
3. Vitamin A deficiency/ faeTi A & &t
4. Calcium deficiency/ b feRaH &1 HH!

Correct Answer :-

« Vitamin A deficiency/ facifiq A &t &t

50) Diet that is appropriate in normal pregnancy should be adequate in:/

Pt Wi AT 9TeT SR I THTRT & i Suga g @:

1. Proteins, vitamins, minerals, carbohydrates, fats/ e -, ﬁET&FT, @Iﬁ\si, mloﬁslqég
adr

2. Fats and Minerals/ 9971 3R Ffol
3. Carbohydrates and vitamins/ ®Taglgse Ud fqerid
4. Proteins, carbohydrate and fats/ W¢H, ®TagRIge T4 o

Correct Answer :-

« Proteins, vitamins, minerals, carbohydrates, fats/ Eﬁ‘cFﬁ, ﬁﬂﬁﬂ, @ﬁ\—rr, WE’I.ETE@E,



51) Amino acids that are indispensable and are not synthesized in the body

are called: /3 3 3=t &Y rufverd § ok IR § U@ @i gd, ___ @eard
1. Mutual amino acids/q'l'ﬁcr% ST 3

2. Non-essential amino acids/ 3HERT® (AH-3ARAA) AT 3

3. Significant amino acids/ Ag@YUl 3{HAT 3

4. Essential amino acids/3{Taxa® (SUREW) 3! 3

Correct Answer :-

. Essential amino acids/ 3% (SUREW) AT 3T

52) 70% or more of the pre-school children, 90% or more of pregnant
women and adolescents girl suffer from:/70% 3 3% gd-faemerdt = 9u1 90%
¥ orftre mfadt Rt wd fommfvai ¥ fifsa gt &

1. Iron deficiency/ 3TORA T HH

2. Sulphur deficiency/ bR &I HH

3. Magnesium deficiency/ HHfRam &Y Ht
4. Phosphorus deficiency/ BRHRY T HHT

Correct Answer :-

« Iron deficiency/ 3TORA T HH

53) The diseases notifiable to the WHO under the International Regulation

Act are except:/ 399 ¥ f5dl Bl o 3= I, I=RIPH Fraw= sifyfraw & sr=afa
WHO i IfREE-T §:

1. Plague/ T
2. Dipetheria/ fewiifear
3. Cholera/ &oT
4. Yellow fever/ Uid S&R

Correct Answer :-

« Dipetheria/ fe®iifear

54) A physician who specializes in providing care during pregnancy:/ dg

Rifeae ot Tufawe & IR T@UTA A H faRiwy g 8:
1. Pediatrician/mﬁﬁ?ﬁw
2. Gynecologist/ TARATORINS



3. Obstetrician/ Qﬁﬁfﬁﬁl‘ﬁ
4. None of the above/ IWRIad & ¥ HIs el

Correct Answer :-

. Obstetrician/ Ugfdfa1

55) In which year targeted public distribution system was launched
replacing nearly universal public distribution system./ %3 af # drdwf® faazor
gomelt 3R g8 At o @rweT Jrdhitre ardwifae faa=or yormret &1 == & o ur?

1. 1984
2. 1990
3.1997

4. 2001

Correct Answer :-
« 1997

Topic:- Grad_General Knowledge and Logical Ability

1) A sum of Rs.53 is divided among A, B and C in such a way that A gets Rs.7
more than what B gets and B gets Rs.8 more than what C gets then ratio of

their shares is:/ ¥4 53 &I A, BdYT C # 59 d3g dicTe {5 A B B A Fuq 7 3ffw
W 81 94T B &1 C I & 8 U ured g1, a1 39 faw=al &1 3rqurd &:

1.25: 18: 10
2.6:7: 8

3.1: 4: 9
4.5:8:3
Correct Answer :-
« 25:18: 10

2) If a pen is sold at a gain of 6% instead of at a loss of 6%, then seller gets
Rs.6 more. The cost price (in Rs.) of the pen is: /uﬁwwﬁ 6% BT &t
UL 6% ATH W ITT 1, a1 faghar & Fu 6 3P U 817 | Fad &1 FIg (3. H) 8

1. 40
2. 66
3.50



4. 36

Correct Answer :-

« 50

3) The main chemical substances present in the bones and teeth of animals is: /\‘rlr_g'arﬁ & giar q
SR & GETa: B A1 IS ggrd urdr S §2

1. Sodium chloride/H&TH FINTSS

2. Sugar/ BT

3. Calcium Phosphatem Biwhc
4. Calcium Sulphatem Jehe

Correct Answer :-

e Calcium Phosphatem Biehe

4) According to the National Food Security Act, 2013, which of the following
options are not true? / TE Q= AT ATAIH, 2013 Fraeet 3 fasheui & & F=47 98t
Tol 57

1. It extends to whole of India / 78 W Ra H A &

2. There are 5 members in the State Food Commission / 357 @ A0d § 5 9a&T gid &

3. Both of the above / 39 g1
4. None of these / =78 & IS 7l

Correct Answer :-

« There are 5 members in the State Food Commission / T1s7 @T=r A AT # 5 92T 214 &

5) Riboflavin is-/ISEFATI 8-
1. Vitamin A/ faeTi#T A

2. Vitamin B2/ fae1fi ¢t 2

3. Vitamin ¢/ faeif@= €

4. Vitamin B12/faeifi= & 12

Correct Answer :-

« Vitamin B2/ faerfdq &t 2

6) Saliva hydrolyses starch to which compound: /ATHd @R & 19 &1 faued frg 9t # giar &:



1. Glucose/ W

2. Sucrose/ W
3. Fructose/ ThaeIg

4, Acetic acid / QF“IE% 3{&T

Correct Answer :-

e Glucose/ W

7) ‘Swachhta Se Sampannata Ki Aur’ is the tagline of - / ‘Ta=gaT & T¥q=qT #T T
A & 7 forerer SrATET 82

1. Swachh Swasth Sarvatra / T=g T 9499

2. Swachh Bharat Abhiyan / =g wea Jf9am

3. Swachhta Udyami Yojana / Ta=zar 3T Jrer1

4. Swachh Bachche Swasth Bharat / =g ag Tae 9%d

Correct Answer :-

« Swachhta Udyami Yojana / T@=zar S=rHt T1sr

8) Walking at 3/4 of her normal speed Tanvi takes 2 hours more than the
normal time. What is her normal time?/ Uit STHT=I Tfd &1 3/4 Wﬁfﬁﬂﬂﬁ@:{
T U HTHT=T Y & & "eT AfUe Tay Adl g, d@ Sust ATH=g Ty 1 32

1. 2 hours/ 2 dcTl
2. 5 hours/ 5 9T
3. 6 hours/ 6 el

4. 8 hours/ 8 ©cl

Correct Answer :-

« 6 hours/ 6 °cl

9) How many categories of awards are there in the scheme Saanjhi? / @i=t

ST 6 A fhad T F [oh fog e
1.2
2.3
3.4

4.5



Correct Answer :-
e 4

10) Female sex hormone is-/ HIGI e E'I'lﬁ_"f %

1. Androgen/ QU_Q; ol
2. Adrenalin/ leel NG

3. Insulin/ 3GfeH
4. Oestrogen/ Q@\_J‘Ff

Correct Answer :-

» Oestrogen/ QE?I\_IFT

11) With respect to the Child Marriage Act, 2006, find the correct sentence
out of the following options. / a1« faaTg srfer=aw, 2006 F gwfaa o FFeal & ¥ 987
e &1 797 |

1. This law is also applicable to citizens of India beyond India / g stfarff=w w=a % arg<
AT AR 9T AT A0 &

2. This law is applicable to whole of India, except Jammu and Kashmir / 7g stfarfae
STHY ST FIHIT % FATAT T AT H AN &

3. Both of the above / 39%I<k THT
4. None of these / =% & #E 731

Correct Answer :-
« Both of the above / 39Tk AT

12) A group of men decided to do a work in 10 days, but five of them absented
themselves. If the rest of the men finished the work in 12 days, find the number
of men that had initially decided to do the work./ 3Tl &1 ts Tqg forsdt w1d &1
10 3 o 1 H=A o7 e Frar 8 AP 370 I 5 et SrgulRua g1 od 71 afe A smeeht I
Pl Bt 12 31§ 1 #ed §, 9 el ot e Rey # fhadt Az

1. 20 men/ 20 3MTeHT
2. 30 men/ 30 3{TcH
3. 40 men/ 40 3{TeH!
4. 50 men/ 50 3TeH!

Correct Answer :-

« 30 men/ 30 3McH!



13) The subnet mask for a particular network is 255.255.31.0. Which of the
following pairs of IP addresses could belong to this network? /fot Acdd &
fore geAe HR® 255.255.31.0 81 9 & A S 1 3SW ud & WSt 59 Acad 4 Adfa
2

1.172.57.88.62 and 172.56.87.233
2.10.35.28.2 and 10.35.29.4
3.191.203.31.87 and 191.234.31.88

4.128.8.129.43 and 128.8.161.55

Correct Answer :-

« 128.8.129.43 and 128.8.161.55

14) Till which class is the Mid-Day Meal scheme available to the children? /

HEATS SIS TISTAT HIFH HET qTF Tg1 6 (1T ITAH §7?
1.V
2. VI
3. VII

4. VIII

Correct Answer :-

« VIII

15) The blood glucose level is commonly expressed as:/ HTHTA: Ydd S B! fHg ATIF A
FATIT AT &:

1. Mm of Hg
2. Milligram per decilitre/ Tl wfd S4eieR
3. Parts per million/ OT¢ R fferm

4. Grams per liter/ I Ufd ©ieX

Correct Answer :-

« Milligram per decilitre/ freom Ufd Sefieiiex

16) Which Five Year Plan had launched the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan? 3% & & S8 d=9adfta Tro=T 7 Tt Tieft d=maa aerfpen<or
AT T AT AT a2

1.9t / 9=



2. 10th /10T
3. 11t /1137
4. 12t /1247

Correct Answer :-

o 12t /1247

17) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry?/ g« Aue srfaf==w, 1961 & sqa = & & F=47 ey
Tgl 6T AV | SruIT?

1. Presents and gifts / 9
2. Affectionate and voluntary dowry / S\qul Ua wafsg# g
3. Food and arrangements / @THT T a1

4. None of these / SURI<h #IE 71

Correct Answer :-

« None of these / IUTIE FE A5l

18) Out of Diphtheria, Whooping cough, Typhoid, Diarrhea & Malaria which is not caused by

bacteria?/ FECRfYaT, Brelt @i, ergwigs, srafvar g wafvar fAg & F #149 difar #t aug
q T g1 82

1. Whooping Cough/ CANIREIRI
2. Typhoid /CIRWPITS

3. Malaria / HQIRET

4. Typhoid/CIgWPIgS

Correct Answer :-

« Malaria / TARET

19) For how many years can a person be imprisoned for keeping a brothel or
allowing premises to be used as a brothel under the Immoral Traffic
(Prevention) Act, 1956 in the event of first conviction? / sfd® AT (TFHATH)
Fferf=aw, 1956 & siavta Tgat at i RRufa # et 7 Jeg1eg T@v & orw a7 o< #it 399 #
Y § TEATA HT P AT o 6 o srferpaw fraer 9ot & fore g T aar 82

1.3

2.4

3.5



4.6

Correct Answer :-

e 3

20) Which of the following Acts were amended by the Criminal Law
(Amendment) Act, 2013? / sraxriaes fafer (sere) srfarfaae, 2013 % siqstq A & & &
srferfaeT & gerree T T&AT?

1. Indian Penal Code / 9Tt &< fgar
2. Indian Evidence Act, 1872 / wredita arex srfafagw, 1872

3. Protection of Children from Sexual Offences Act, 2012 / =1 FT |31 ATTLT F HLEAT
afarfaaw, 2012

4, All of the above / 3Tk T+fT

Correct Answer :-

« All of the above / 3uZ=F Tt

21) Since which year was the Department of Women and Child Development
separated from Ministry of Human Resources Department to form an

independent ministry?/ af2«T va a1 fAwme rwmr w w99 a9 § weg 9ree fwe
HATAT & g FX T T HATAT T7AT T2

1. 2004
2. 2006
3. 2008
4, 2010

Correct Answer :-

« 2006

22) Which of the following option is best represented by the following

diagram?/ fFafafaa & & «19 a1 fawe fA srefa grRT gxitar <1 G&ar @ 2

1. Human, Sea, Mountain/HJ¥, IR, UglS
2. Domestic, Dog, Buffalo/UTeld, P, oy

3. Doctor, Nurse, Patient/Slaex, 74, Jft



4, Sun, Moon, Water/{if, IHI, Sl

Correct Answer :-

« Domestic, Dog, Buffalo/Uleiq, I, o4y

23) Which of the following is not a component of the Pradhan Mantri
Swasthya Suraksha Yojana? /% & & FI99T f&eq Tema H3(T T1eeq LET ST A7 3T

TRl 57
1. Setting up of AIIMS like institutions / T&T SI¥ TEAT 1 TTIAT

2. Upgradation of Government Medical College institutions / T¥#T{ AT FlersT HEATAT T
EEpE]

3. Insuring the persons below poverty-line for health-care / =T @1 & 1= @ aTe
STTRAT T TATET AT o o0 qgrdT F3AT

4. None of these / 4% & FIE 7l

Correct Answer :-

« Insuring the persons below poverty-line for health-care / TH&E @1 & = @« a1
SREAT T TATEST HAT o (o7 TTAar HeAT

24) DIRECTIONS: Choose the missing terms out of the given alternatives./

ford=r: fou e fawedl # & go vl & 3ra a1 |
r_sr___tsrrt__rr__sr

1. ttss

2. tsts

3. trst

4. sstt

Correct Answer :-

25) In which year was the Prevention of Women from Domestic Violence Act

passed? / = fEaT & wfgar sxeror sfefaas foha av o aria B @ a2
1. 2003
2. 2004
3. 2005

4. 2006

Correct Answer :-



26) How many rectangles are formed in the figure given below?/ & & 75

rpfa ¥ gl $t J@ frat g2

2.7
3.9

4. 11

Correct Answer :-

27) Which of the following is included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013? / HiZaTsil &1 Frdeda < S Iedtew (R, g sie gfaa)
Ffefaw, 2013 ¥ (Aa 9 ‘FEEIT § W9 § § F:47 ATHA 82

1. Dwelling-house/ smETE[g
2. Sports-complex / @@ HFd

3. Hospitals / sreqart
4, All of the above / IU<I<F FT

Correct Answer :-

« All of the above / 3=k T+t

28) If you write criteria values vertically (one in a row) it will mean in MS-
Access /MS-Access ¥, af¢ 30 ATUES UF iR forad § (T ufda ®) a1 391 aaaq
3-11'“:

1. OR conditions / OR ®SITH

2. AND conditions / AND &SIxH
3. NOT conditions / NOT %aIRH
4. None of these/37H T ®I3 8!

Correct Answer :-



« OR conditions / OR &aI¥HA

29) The Ekalavya Model Residential Schools are for the - / T&a@=T Aiew <= {AFR
e e § 7 foraes e g2

1. Scheduled Castes students / s> Tt % ==

2. Scheduled Tribes students / sIgg=a ST & ST

3. BPL students / &t Y@t & A= At S
4, Rural Gifted students / Tor gfasTaTT ==t

Correct Answer :-

« Scheduled Tribes students / ST AT & ST

30) Which of the following ministries is related to Vanjeevan? /assfiaa R d& &
RN F HATAT F GFafera g?

1. Ministry of Tribal Affairs / ST &1 HATAT

2. Ministry of Environment, Forest and Climate Change / T3Ta<u, a9 X a1y Tadd
HATAT

3. Ministry of Social Justice and Empowerment / HTHTISTS =73 i< SATEERTIAT AT
4. None of these / =% & FIE 7l

Correct Answer :-

« Ministry of Tribal Affairs / ST &1 HATAT

31) Which answer figure will complete the pattern of the question figure? /

e o 3 ot Y SR snpfa wy snpfa &t guf wvft?
Question Figure: /99l 3mepfa:

YV

Answer Fiajres | 3eed ﬂTq;ﬁ'-tm

A 2 XX e

{(a) () (€) d)

1.a
2.b

3.C



4.d

Correct Answer :-

« b

32) Protein responsible for blood clotting is: /W St Iad ®T YahT SHM & forg IwRer &:

1. Albumin A / 3e[H A
2. Globulin / TaIef e

3. Tbrin/ SfsH

4. Fibrinogen/ Uﬂg@:hﬁﬁ

Correct Answer :-

 Fibrinogen/ EFI_EZ'@:n\_XFT

33) In which year was the National Commission for Protection of Child Rights

set up in India? / 9T<T § WY ST LA AT 1AL 99 | T(oq 63T 7137?
1. 2005
2. 2006
3. 2007
4. 2008

Correct Answer :-

« 2007

34) Hormone secreted by placenta is-/ 3TURT (@'\Q.ET) GRT TATfad ﬁﬁ ardr ﬁ'ﬁﬁ %:
1. FSH

2. Prolactin/SldlTiae

3. Human chorionic gonadotropin/gdH- PINTH ﬂﬁ@ﬂﬁiﬁ?

4. Prothrombin/S3TESH

Correct Answer :-

e Human chorionic gonadotropin/gdH- DI AD 7 ﬁélaflhq

35) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum

when compounded annually?/ fpaq aul & +ug 1,800 1 IR 10% HTWTJFW@
T Bt &R F T 2,178 8 9



1.3
2.4
3.3.5

4.2

Correct Answer :-
« 2

36) For which of the following programmes were the Daksh Skills Lab
opened? / ¥ § & ®9H FTAFAT & T 387 BoFeq A T9TAT AT B2

1. Pradhan Mantri Swasthya Suraksha Yojana / & ®3iT Famess gLt A1
2. Swachh Swasth Sarvatra / =g @& 945

3. Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 959,
AT, TSI, T 3T FRemT Ty vy

4. Mission Indradhanush / s=eqw =TT

Correct Answer :-

« Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 9594,

AT, TSI, T 3T FhelT Fameey frdswd

37) Which data communication method is used to transmit the data over a

serial communication link?/ Fad TR fie W ST Jarivd o1 & fou &9 @t ST
TR Ugfd &1 SUaT fHar sirar 82

1. Simplex/ ey
2. Half- duplex/ WE@W

3. Full- duplex/ Bl S&iad
4. None of these/stlﬁ?}laﬁ'sg:lﬁ

Correct Answer :-

. Full- duplex/ d gwiad

38) DIRECTIONS: Find out missing number from the figures given below./

forém. < & it srreforat ® g T wird PR

(s (28 (o]
A A

1. 117




2.40
3.61

4. 81

Correct Answer :-

39) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /{31 1 faT 70 Uz A O YA 3R TP 18 $o fewd faw e 71 syt
T T Al Fra@ 7T R, YA 81 3 TdaTa 9wl A U= wedta g 8 | 3t et @t ufen
mgﬁm%mwﬁwﬁﬁﬁﬁﬂmaﬁﬁwﬁmmﬁ TR Jd7Td aA
O |

Statements: /PY:

Some tables are watches/WﬁW, Ylﬁ'ﬂﬁ%

Some watches are Iamps/Wﬂﬁ'lﬁ', ?ﬁ'W%

Conclusions: /o

I. Some tables are lamps/$® A4, U &

II. Some tables are not Iamps/Wﬁﬁ,ﬂWqﬁ%'

1. If only conclusion I follows /WWWI WW%

2. If only conclusion II follows/dfe Had fswy 11 &WW%

3. If neither conclusion I nor II follows /H%:r?ﬁﬁ'ﬁb_ﬁf I :[ébf II WW%

4. If both conclusion I and II follow /af¢ sy I SR 11 g ST B §

Correct Answer :-
. If neither conclusion I nor II follows /afe 7 df fAswe 1 78 11 ORI HRaT §

40) The first number is twice the second number and half the third number.
The average of these numbers is 35. What is the value of the smallest

number?/ TYH H@TT 5T §©I 1 RT3 3R Jefty wen ot 3neh 71 57 demai 31
3T 35 21 T DI WBAT BT W T 22

1. 15
2. 20
3.45

4. 25



Correct Answer :-

41) In which year was the Indira Awaas Yojana launched? / 3R<1 same TisHT 7
A Y a9 & FRIT TAT?

1. 1982
2. 1983
3.1984

4. 1985

Correct Answer :-

« 1985

42) Which program are used to correct the spelling in MS-word?/MS-word #

WA B T PR & forg fore Ui &1 Sua T gien 82
1. Spell—pro/@ﬁtﬁ

2. Spell-check/Td U

3. Output/3iI3c Yc

4. All of the above/3Iudad T

Correct Answer :-

« Spell-check/Td J&%

43) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fardar: frafafed uy o uyeras e ) &
R THIT DI AT | ST ?

349.99 x 19.99 + ? x 180.01 = 12000
1.12
2. 28
3.47

4.93

Correct Answer :-



44) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & uyars e (2) & ®=H
TR T BT AT I ST 2

4374562 x 64 = ? x 7777
1. 360

2. 3600

3. 36000

4. 72000

Correct Answer :-

« 36000

45) Hardik scores 30% marks and failed by 5 marks, while another student
who scores 40% marks gets 10 marks more than minimum pass marks. The

minimum pass marks is:/ 81f¢® @1 30% 3% UTtd i1 8, 9YT 98 5 3l A =i gt
ST 8, Sai® T 37 BT o 40% 3i® U giar g, Il g+ & 1T smawae <Haw 3ie |
10 3% 3IfUP U Hear 31 Stvf 81 F e smaxas g=aw 3w 3

1. 50
2. 80
3.120

4. 150

Correct Answer :-

« 50

46) Q walked 20 m towards West, took a left turn and walked 20 m. He then
took a left turn and walked 20 m and again took a right turn and walked 20
m. How far is Q now from the starting point?/Q, m%mﬁzorﬁaw,ﬁﬂm
ST 3R 20 Hew Far| fpR a8 a1¢ g1 3 20 Hew Iar 3R 6 a8 e g1 3 20 Wew T«
34, Q ARFU® fig A fopa-t gx 82

1. 40 meters/40 Hex
2. 50 meters/50 e
3. 100 meters/100 Hiex

4. 120 meters /120 Hex

Correct Answer :-

e 40 meters/40 Hex



47) What is the term used when you press and hold the left mouse key and
move the mouse around the slide?/ STT U3 FHolt Bl STTHT W3S & IRI 3R
TS BT TN B B! FT Had 82

1. Highlighting / BTSqrsiéT
2. Dragging/ &id (gffim)
3. Selecting / Igd BT

4. Moving/ Hfd
Correct Answer :-

. Dragging/ &id (SF)

48) Which of the following Constitutional Amendments had removed the
Right to Property from the Fundamental Rights? / % & & fi9& g3ar«s denes &
FTT HOTRT T STTARTT T HToTsh STTRHTL st ATIorT & gaT T T4AT?

1. 42"9 Constitutional Amendment / 42-% H3eriaa Horem
2. 43" Constitutional Amendment / 43-3 &3gria Herrga
3. 44t Constitutional Amendment / 44-3 F3eTfa Herra
4. 45t Constitutional Amendment / 45-3 &aTfae Fofram
Correct Answer :-

« 44t Constitutional Amendment / 44-3 TR Hemre

49) In the Indecent Representation of Women'’s Act, 1986, which of the
following would mean “advertisement”? / afgarsit F stgfier wiafAtac (Foe)
sfaraaw, 1986 ¥ Jqar 7w # & F=4r fashey “Rem=” # srun?

1. Notice / qifew
2. Label /&=

3. Wrapper / @9eq
4. All of the above / ITr<h Tt

Correct Answer :-
« All of the above / IUZ=F T
50) What does the VLOOKUP function do?/ VLOOKUP WaRI- T $Hdl &2

1. Checks whether text is the same in one cell as in the next/ Gﬁam%%wweﬁ
JaH g o P s A 2



2. Looks up text that contain ‘v// TR &l &1 g o/ H 'v i1 &
3. Finds related records/afeid RavTs gedl &
4. None of these/sﬂﬁ@fﬁéqﬁ

Correct Answer :-

. Finds related records/Jsf¥d K& gaar g

51) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFafafaa urg ard &1 wmgd® srera w7 - ey mo uy
& I qiferg|

Percentage of expenses on various items during book production and sale/

TP & Iared SR fast ® fafie wel v &d &1 ufowe

Adverusing cost/Trra=
wd, 18%

".‘_-_-_‘_-_-_""‘—'—-.
4 Binding cost/ arsfin
ud, 18%

Bevalty cosy WRTWR
www, 15%

Printing cost/fiEm wrd,
1%

WUECH | | aneous COBY.
fafrr wd, 7%

Paper cost/ = i,

Th%

The ‘paper cost’ is approximately what per cent of ‘Printing cost’?/ BT T
Ffé @ o1 @ e ufosma 82

1. 15%
2. 20%
3. 35%

4. 27%

Correct Answer :-

« 20%

52) If white is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ is called ‘yellow’,
‘vellow’ is called ‘green’, ‘green’ is called ‘black’, ‘black’ is called ‘violet’ and
‘violet’ is called ‘orange’ ,then what would be the colour of human blood?/

gfe b P ‘Har HelwIdl g, ‘Hidr &I are’ ol Srdl 8, ‘e’ &! "0l 'Hel SrdT @



T &Y g1’ HEI STdT 8, ‘G’ D ‘BT’ gl STdT 8, ‘BTl B ST’ BT SrdT g 3R
ST @Y AR wer SITaT 8, O IS & Y9 BT 3 1 g

1. Red/dldl
2. Green/8Xl

3. YeIIow/EﬁFﬂ
4. VioIet/a'TFﬁ

Correct Answer :-

. Yellow/dTdr

53) DIRECTIONS: Find the mirror image of the figure given below:/ ffa=r: i &t
TRt i &1 guur ufafaa J1a 9:

Question Figure: /g9al Jnepfa:

7%

Answer Figures: / 3eaz 3T farat :
-

all ir s R e e
o | 85| v b

(1) (2) (3)  (4)

1.1
2.2
3.3

4.4

Correct Answer :-

54) Pointing to Hemant, Seema says, “He is the paternal grandfather of my
eldest son Mahesh”. How is Hemant related to Seema?/ 3Hd &I 3R SIRT HId
3T T Fed! 8 5 a8 I 9ad 98 [ WeW & grer oft 871 34a, Wt A {5y yer gwfia
3

1. Father/fUdT

2. Uncle/ dmdT

3. Brother-in-law/ Sa¥/Sirel

4. None of these/3TH ¥ &5 ol

Correct Answer :-



« None of these/stlﬁ@[aﬁ'%ﬂ?ﬁ'

55) In communication satellite, multiple repeaters are known as?/ JdR 3UJg8

#, o3 dted & U & |11 o 82
1. Detectors/ f&caed

2. Modulators/ nﬁgﬁﬂf

3. Stations/ €

4. Transponders/ i UIgH

Correct Answer :-

. Transponders/ i UISY

Topic:- Grad_Managerial Skill

1) Each community development project covered about 300 villages with an
area of 450-500 square miles and a population of 1/ Wﬂ'ﬂ?{l’q oo
G = U 300 1T AR fhT T $a &FFd 450-500 T Hia a1 A
AT 4

1. 1.5 lakhs/1.5 dRg
2. 2.0 lakhs/2.0 dig
3. 2.5 lakhs/2.5 did

4. 3.0 lakhs/3.0 g

Correct Answer :-

« 2.0 lakhs/2.0 <@

2) represents an Unorganised Group:/ SIS / Sroaafeyd
g F! A= o &

1. Out-groups/ H%?fﬂ:&" (3{13c-YU)
2. Crowd/ lﬂ's’

3. Involuntary group/ 3ff5® THg
4. Voluntary group /%3ddd! Ig

Correct Answer :-

« Crowd/ Hts



3) Mention what type of media exhibition,television are?/ ¥dT¢ f& DESIHT,
Tefifaw 5y & wreqy 82

1. Mass communication/ 99 IdR
2. Group communication/ Iqg IR

3. Individual communication/ JufFaes TR

4. Public communication/ITaul-ie TTR

Correct Answer :-
« Mass communication/ 99 IdR

4) From among the following identity one which is three-tier system of the

local self — government?/ 378 I UgaM & RFHR W=ma+ 3t BRada srawin o4 32
1. Gram panchayat - khand samiti - zilla praishad/ 98 Udad - T IiHfd - f5er ulkyg

2. Gram panchayat - village school - village cooperative/ 19 U9TId - UTH faerme - umm
HghRI At

3. IRD programme - TRYSEM - NREP/ IRD HTHH — TRYSEM - NREP

4. Lab to land - KVK - KGK/ JaITRITa ¥ Yf¥ d& - KVK - KGK

Correct Answer :-

« Gram panchayat - khand samiti - zilla praishad/ JH Uardd - We fHfd - foren ufkeg

5) Both society and are the products of social interaction:/ IHTS 3R
_ o @ arrire srafshar &1 Sare §;

1. Customs/ difcai

2. Traditions/ UTFRTY

3. Culture/ ¥a¢ (HeeR)
4, Community/dYqcrd
Correct Answer :-

« Culture/ a8 (HeR)

6) “Public life” is defined to?/ “HTdui~® Siiaa” f&d d& gty 22
1. Gemeinschaft (Community)/ GHISRIUC (THGMA)

2. Gesellschaft (Association)/ TolaRITue (QT‘J/HIGTJJ)

3. Tonnies’ Classification/ ST aeifeRur



4. None of the above/B'CIﬂTﬁ e ?ﬁﬁ =|€°f

Correct Answer :-

« Gesellschaft (Association)/ TR (?T‘J/Hlsthr)
7) The art of communication is:/ JdR @I BT %—
1. Learning/ 31f&H ()

2. Listening/ g1

3. Feeling/ HeJd AT

4. None of the above/ B’CR}[HH pei: | ﬁ'{f T8l

Correct Answer :-

 Listening/ g1

8) How is the development of poorers from all the sides is possible only by?/

gy @1 |t ok A fapry Faa fead grT TG 82
1. Extension education/ fa&R e
2. More money supply/ 3P EFITqﬁ

3. Making strong ruler/ 3P HoIgd RMAD FT

4. Not known/3{JITd

Correct Answer :-

« Extension education/ fa%aR e

9) The plan of work arranged chronologically is called /[ PIHHATIAR
FafRd H1d e Bt F5d ©:

1. Calendar of work/ T Haie?

2. Programme projection/ HAHH W
3. Calendar of activities/ Tfafafd FaieR

4. None of these/3TH ¥ &5 ol

Correct Answer :-

« Calendar of work/ BT Hae?

10)



An understanding of the role of the local leader s/ RATHI ﬁ?n/ﬁaawrf C4|

YT 3t aue e

1. Is of least importance for local Ieaders/@-ﬂ'rﬂ'q ﬁm&ﬁ/ﬁaaamfsﬁ & ﬁﬂ Ied &H Hgd
D1 gIdl

2. It very essential for local leaders/ R ﬁm&ﬁ/ﬁm&ﬁ & ﬁﬂa@ﬁ 3aRTH gIalt
3. Has no concern with the local leaders/ I Ad13fl/Aq@®mdisi ¥ ®is IRIBR Ta! I@d!
4. None of above/B’CPjaﬁ oY PIs Te!

Correct Answer :-

« It very essential for local leaders/ R Ad13fl/Aqadmarsdl & T 9gd Sa=a® gl

11) What was “India’s food crisis and steps to meet it”?/ “$fSUT9 s HIFRN
Us W ¢ e se” & i/

1. A book on food situation in India/YRd & @rel uRRUfT W ford Wit v g
2. Report of Ford Foundation Team/ T8 HISSYH &d &1 Th U
3. Report related to Poverty in India/ HRd # fAdHar ¥ Iwafa e Rard

4. A formula to solve food problem in India/ HRd &1 W] THAT T B B Th NE

Correct Answer :-

« Report of Ford Foundation Team/ ®Is BIde¥H &d &t T Rurd

12) Small groups include:/ agmafr A FIIT&I?[%

1.  ‘dyad’ and ‘triad’/*Sifgai’ iR fowfeai’

2. Racial groups and political groups/ <! TYg Td IeMd® TYg
3. Other small groups/ 30 °/q 9@

4. Political groups and ‘triad’/ NGEIGED qYg Td ‘ﬁlﬁ)‘ﬁ,’.ﬂi'
Choose the correct answer:/ & 3T A

1.2 and 3/2 3R 3

2.1and 2/1 3R 2

3.1and 3/1 3R 3

4.3 and 4/ 3 3R 4

Correct Answer :-

« 1and 3/1 38R 3



13) From where does the National Development Council gets its

administration support?/ TI'@TI fapr ufvue & y=mafe 9 o 9 i %?
1. Parliament/ 93¢

2. Planning commission/ Hfa R

3. Finance commission/ fa< 3mamT

4. Union cabinet/&—<g HaHSd

Correct Answer :-

« Planning commission/ M smaT

14) The intensive area programme (IAAP) was started during mid term
appraisal of : /99 $iY &7 HAHH (IAAP) & & ATl geied &
R IR T T o

1. Second five-year plan/ U<l Gaayg Ao
2. Third five-year plan/ TR} Taaufd g
3. Fourth five-year plan/ T Taaufg aeHT
4. Fifth five-year plan/dradl daayfa g

Correct Answer :-

« Third five-year plan/ TS} Ueasig greT

15) Mass communication in India-the book was written by :/HTH

PRIFHIM 34 ST TS D = foret &
1. K.J.Kumar/ &. S, PHR

2. Ram mohan/ {H Iﬁ%‘r

3. Patil/ TTfea

4. Kuppusamy/ Wﬂ:ﬁ

Correct Answer :-
« K.J.Kumar/ &. 3. $HR
16) What are extension workers?/fa%dR o4f |1 82

1. Lay leaders/ 3fdiférd siq@mai (o diex)
2. Professional leaders/ URIaR Adaddi



3. Autocratic leaders/ RS =T
4. None of above/3udad & ¥ I3 g

Correct Answer :-

. Professional leaders/ URAGR @i

17) The “special interest groups” falls under:/ “faRiy ?&qug" &
Sl 3Td &

1. The primary group/ Tyfres NEE
2. The secondary group/ fgdias 9qg
3. Voluntary group/ ¥ad3d! 948

4. Tertiary group/daids TUg

Correct Answer :-

« The secondary group/ fgdige g

18) The approach to organizational change where decision are made by a
centralized power position, other being required to obey the decision:/

WSS Ufad= Pt a8 UG g TP F=kigpd I U gIRT Aoig i S € ofiR o
@ forofa &1 urem w3 g @

1. Authoritative approach/ 3Tf¥&TR® Tgfd
2. Participatory approach/ eyt uglfa

3. Pro-active approach/ 3PN Ugfd

4. Active approach/ Ifd Ugld

Correct Answer :-

« Authoritative approach/ 3RS Tgfd

19) On whose birthday community development programme was started in

india?/ YRd ¥ 94 Ao SrieH &1 AR fhad SfeT W far wr ur?
1. Netaji subash Chandra Bose/ WQWW@F

2. Pandit Jawaharlal Nehru/ Gf$d SaT8Rad A5
3. Mahatma Gandhi/ TgTET T
4. Sardar Patel/9%eR Ucd

Correct Answer :-



« Mahatma Gandhi/ FgT& TTet

20) Which creates sympathy in and fosters co-operation among members?/

T A P, Jewl & Fergyfa IUF BT @ 3N MRA Wed T &Y gerar a1 82
1. Unity/ Tl

2. We-feeling/ H &1 Tgd™

3. Common feeling/ ITHIY TgdTH

4. Integrity/I@fST

Correct Answer :-
« We-feeling/ §H &I Tgd

21) is a traditional mode of mass communication:/ , O TAR &t

g farem &:

1. Tv/ 2t

2. Newspaper/JHA[RUA
3. Radio/ A

4. Internet/ 3?@'6

Correct Answer :-

 Newspaper/JHHRUA

22) The hallmark of leadership is :/ g DI HEISH ?
1. Achievement of goals of an organization/ & & aedl ®t Uit

2. Settlement of disputes in an organization/ ¥7é4 & fddral &1 Mue™

3. Capacity to influence others to follow/ G8RI &1 S{TIRUI §g UHITAd B BT &l

4. Maintaining the core values of organization an its distinctive identity/I P Fwd
ARIArsl o1 39D [aRY Uga & ®U T Sy G-

Correct Answer :-

. Capacity to influence others to follow/ GERI @I 38U 5 UHTFAT B DI &l

23) Government of India set up planning commission in 1/ HRd PR

A YIS TART S TITYAT A &1 A

1.1947



2. 1950
3.1952
4. 1995

Correct Answer :-

« 1950

24) The process of influencing people towards achieving a common goal is

called : /TP JTHT &d gTTel B @t fa=m # a1 uMTfaa &= &t ufsean
Feardl &

1. Communication/ AR
2. Development/ fa&rg

3. Leader ship/ ﬁ?jc_c:l
4. Sponsorship/ WA

Correct Answer :-

« Leader ship/ 9d@

25) Communication media facilitates :/ AR HTHH P L
CEIGI

1. Development of speech/ qmoft & o
2. Skills/ BTl

3. Teaching and training/ 3919+ T4 UfRrefor
4. All of the above/3udad I+

Correct Answer :-
« Teaching and training/ 3{¢aTg Td UfR&0m

26) The unit taken for the purpose of identification of IRDP beneficiaries is:/

IRDP ATHTFfaY 5t ygard & St 9 ot Tt sor1s @
1. Individual/ SHfeRITd

2. Family/ GRaR

3. ViIIage/TﬁH

4, Community/JHard

Correct Answer :-



« Family/ IRaR

27) Firka development scheme was started by madras government in

:/feT fopTa Ao T As PR gRT____ ¥ IR 3t T &
1.1942
2. 1946
3.1952

4. 1957

Correct Answer :-

28) 4 I's of communication are:/ H9R & TR 30§ &-

1. Informal, instruction, influence and integration/ IhIHd, SRR, SUALT US SETURM

(3=, fACw, UHTd Ud ThIeHun)

2. Intermediation, information, interest and instruction/ SeXHfSTRA, SWHIHTH, S, TS
SRCARM (FERAT, 1, BT U9 Fa20)

3. Information, instruction, influence and integration/ SThIARM, SR, SUAL US

SERM (1, FER1, YT Td T o)

4. Information, intention, influence and instruction/ ‘aﬂb‘lﬁ-‘zld, '{;?:v*eld, $¢|<:1QH, TS LRI

(T, §-IRY, UHTT T fd=m)

Correct Answer :-

. Information, instruction, influence and integration/ SHIHRH, ICARM, UL T8
SENRA (1, 421, UHTT Td Ui

29) Which of the following adopters have more opinion leadership in the

society ?/ 399 9 P UTdt (TSTER) & U JuT # 3if¥e "a A giar 32
1. Innovators/ Fayddd

2. Early majority/3RfB® SgHdix

3. Early adopters/ 3Rf®& Urg!

4. Late majority/ UY SgHAIRI

Correct Answer :-

« Early adopters/ 3R®Y® TTa!



30) The first model of communication was developed by / TAR &

Ugd uisd &1 fawr 3 forar
1. Aristotle/3RR¥J

2. Berlo/dat

3. Shannon and Weaver/2H Tl dlax

4. Lasswell/agad

Correct Answer :-

« Aristotle/3R¥J

31) One of the basic element in the leadership relationship is :/ Aqd
TG & ATYRYA bl | I Th 8 :

1. Task/ Gap]

2. Faith/ fayma

3. Motivation/ ORUT

4. None of these/ 3?3[ | aﬁé T8l

Correct Answer :-
« Faith/ fayrg
32) Horizontal Mobility denotes:/ &fast fa=ftedr &1 3 8:

1. A movement of an individual/ people/ groups from one status to another/ f&dt

fd/ safdadl/ THg! &1 U REd (Rew) ¥ gt 8fyma (Rew) o o

2. A change in position without the change in status/ 3RMad (Xe¥) § dead & fa1 ug
(UISieH) H dgand

3. Social descendance or social failure/ IMHINSIG Ud AT JTHISIG BT

4. Social ascendance in the status of individuals groups/3afaaadl/Tdg! &1 R &
IS I

Correct Answer :-

« A change in position without the change in status/ 8RITd (Xed) & scard & fo1 ug
(UISeH) H dgand

33) From where is the journal of Rural Development published?/ arHivr fasre
ST BT YSTH el | gl 82

1. MAMAGE



2. NAARM
3. NIRD

4. NCAP

Correct Answer :-

« NIRD

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 9@ AR 3 M sgfaw«dt vzl & w&t
fameu o1 999 S

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RS (Afe 3 separ |, e ord g arsm swar), s #
U AT a1 Hbdl MR Jbafaqd & ol & ST & I1eay A Uh 9 a1 9YE I g
I a1 g a& difed 3 UgaH & $ $ $ad 8| Ig Tifodd RN & aTgd BT B Hdl
T IUAR & 3113 Ued § Wd, e, TIhIsH, "ni, Sidpied, uradal, ufayfy vd < iza
Aisd &1 faprd 34 aral ¥ R Rigiaer wdis 94, faear a7 Sp1a ud 9 BT adn
3= TS 1 YUTA JER TP gAYl Sita-T BRI @ &l g8 g9 -G Higg @ &f
AR &1 A GUSH TE 379 o # 90 9741 B IR # Hred (THIfEM) iR fawpred
(SRIfET) Fizra WA &1 Fred P & A= Td AQH, U1 fapiss s &1 Y a@
Td 44Ul ¥ g1 IR TP bl ufspar g foraw foamy &1 smeM-ueH far siran §; afe 39
THARWT FR a1 91Y, @t SeM-UeT & SiTaT 8 R gar=n 3@ gt 8 1fawra "R, ar
U ¥ Jaory (Saaudc Fgfer) fda faygs & 9 & auf § 99 IR sreauq &
TP &8 & U A IURT UT| 39 JHT TRAT, wiwl, iR afémht smfver & =1 sram @z,
SrAfvRar ud TefRugEr & fierR W &k ¢ 3@ 1

Communicare means to:/ $RHIR &1 Y 3:
1. Speak/ ClNGll



2. Share/ Il &HAT
3. Produce/ 3dTfed BT
4, Profit/ H-Th1

Correct Answer :-

o Share/ ITdl HAT

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde ygs 9@ - @4 T sgfawed u=-i & w&t
fawey &1 999 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-worid
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1y RgfAeeE (Afe 3 sgdar |, e ord 8 arsm s=ar), s #
I 9 aTd Hbdl 3R Aharaw & faal & SughT & ATead I T 9 a1 UG I g
I g1 GYE aF qifed 3 ugaq & $7 &) Fed 31 g qifod JSRN P aTgd BT BTA Hdl
TIUAR & 31 Ued § Wd, "R, TIdIsH, Ani, Sidpied, uradal, ufayfy vd < iza
Aisd &1 fIeT #3q aral # ¥aR Rigiaer wrs 9, faeay a7 wh1H ud e BT aur
3= e A1 YU WER TP AEQYUl Sita- SR 8 &l g8 g9 -6 Hig @ &t
ATAR & A IHIH TE 379 Fo & Jud a47a1 B IER # HeT (THIEM) iR famis
(SHIfET) Pz wfra 81 Fred P € 99 Td aaH, 947 fadisd s o1 oY aw
TG 4qUr § 31 HOR TP a1 ufshar 8 orad faury &1 sirer-verq foar wirar §; afe 3@
THARBT B U1 91T, oY 3MerH-USH $& ST ¢ forad garen 3«7 gl 8 Ifaers I=r, ar
" & Sgbia (STauiic FRIAGI) fEda fAygs & 9 F ool & o9 TOR sremaA &
TP 87 & U A IURT Y11 39 994 T[T, rblen, iR <feohl sifver & 31 erya wadsr,
SreAfrRar Td qefRuedr & iR W Wik § W) A

SOURCE — MESSAGE — ENCODING — CHANNEL — DECODING — RECEIVER —

FEEDBACK — CONTEXT. This model was developed by:/Jd — T — Hled

(THIEM) - 1t (FFa) - fawrsT (e - waswat - gy — def | g uisa
1 fawfa foar ar:

1. Wilbur Lang Schramm/ fadeR o TpH



2. Robert Craig/ NECE: 2
3. Claude Shannon/ F@T3s R4
4. All of the above/GCI{IEIH gt

Correct Answer :-

« All of the above/3udad I+

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz & wFyde ygs 39@ i @4 T sgfawed u=-i & w&t
fawey &1 999 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-worid
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1y RgfAeeE (Afe 3 sgdar |, e ord 8 arsm s=ar), s #
I 9 aTd Hbdl 3R Aharaw & faal & SughT & ATead I T 9 a1 UG I g
I g1 GYE aF qifed 3 ugaq & $7 &) Fed 31 g qifod JSRN P aTgd BT BTA Hdl
TIUAR & 31 Ued § Wd, "R, TIdIsH, Ani, Sidpied, uradal, ufayfy vd < iza
Aisd &1 fIeT o3 aral # ¥aR Rigiaer wrs 9, faeay a7 wh1H ud e BT aur
3= A &1 FUT JAR TH AEdyul Sia HIRa g o g0 g9 36-RIE Hielg @i &)
TR & A JAIH TE 370 Fo & Jud a41a1 B IER # HsT (THIEM) iR famrs
(SHIfET) Pz wfra 81 Fred P € 99 Td aaH, 947 fadisd s o1 oY aw
TG 4qUr § 31 HOR TP a1 ufshar 8 orad faury &1 sirer-verq foar wirar §; afe 3@
THARET HR a1 9T, at S-S & Srar @ forad garzm 3@+ gl 8 Iffe™ W=, ar
" & Sgbia (STauiic FRIAGI) fEda fAygs & 9 F ool & o9 TOR sremaA &
TP 87 & U A IURT Y11 39 994 T[T, rblen, iR <feohl sifver & 31 erya wadsr,
SrAfaT vd efRueET ¥ UfteR W) Wik 2 7@ 3

Development Communication emerged as a field of:/ oo SR & aa
& &9 H IUM:

1. Two-way communication/ GIdRT IR

2. Intra-personal communication/ Sddafaasd TR



3. Mass communication/ S9 HdR
4. All of the above/ ITdad T+t

Correct Answer :-

« Mass communication/ 99 IdR

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 33 T sglawed! uxai & 98t
fawea &1 a7 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RgeIE (A 3 stepar |, e ord 8 arsm sar), s #
U AT 918 bdl MR Jbafagr & ot & IuahT & areay A Th 9 a1 9YE g
I 9T g a@ difed 3 Ugam & $d & $ed ¢ | Tg Tifdd WM & aTgd BT BT Hal
BHIR & 313 UeH § WA, W, Teied, Arf, e, uraeat, ufrgfy wd g isw
ATsd &1 fIPT #31 aral # ¥R RigiaeR wis 94, facar &7 wh1H ud Aac BT qur
3= TS A1 gUT WER TP AEQYUl Sita- PR @ & g8 g9 -6 Higg @ &t
VTR &7 § YHSH TE 39 84 H JuS 99141 3 IEAR # PisT (TEHHEM) iR fawisa
(STRIfET) Tz WA &1 Fred P & a9 Td AQH, U1 fapisd s &1 3 a@
TG 4qUr § 31 HOR TP vl ufshar 8 orad faary &1 sierH-verq foar wirar §; afe 33
THIRBT B T 91T, oY -G v SrdT ¢ forad garem 3«7 gl 2 Ifders I=r, ar
HeU # Sapid (STaudc Hge3r) fEda faygs & 9 & 9l § o 99R waa &
TP 87 & U A IUR 4TI 39 g9 TRAT, b, iR efeofl sifver & 31 erya wads r,
SreAfRar ud TefRugEar & ifieR R Wk ¢ 3@ 31

communication prevents from exchange of ideas./ IR, ICEIR

BT JTS-YST b 3T &:

1. Mass communication/ S J9R

2. One-way communication/ ThdRthl JdR

3. Non-verbal communication/ 3RMfstd TR

4. Verbal communication/m JIR



Correct Answer :-

« One-way communication/ TRl AR

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiz &1 wFyde e 39@ i &4 T sgfawed u=x-i & wdt
fawe &1 79 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1y eRgfAeeE (Afe 3 sgear |, e ord 8 arsm sar), o #
IS 9 aTdl Hbdl 3R Aharaw & faal & U & ATead I T Id a1 e 4 gan
I a1 g aF difeod 3 UgaH & $d &I Had 8| Ig qifod WM & aTgd BT BT Hdl
TR & 316 UeH § Wlid, e, ThisH, url, Sdied, urawdal, ufagfy vgd < izg
Hisd &1 fIeT o34 aral # 9aR Rigiaer wrs 9, faeay a7 wh1H ud e B aur
3= A &1 FUTE JAR TP Aedyul Sita HIRE g ot gH g9 36-RIE Hielg @i &
VTR & A JHIH TE 370 Fo & Jud 411 8 IER # HsT (THEM) iR famrs
(SHIfET) Pz wfra 81 Fred P € 999 Td aaH, 947 fapisd s o1 o0 a@
TG 4qUr § g1 IR TP ST ufshar g orad faury &1 sier-verq foar wiran §; afe 53
THARWBT H {1 91, t SMeTH-UeH v STaT @ forTd garzm 3«d gl 8 Ifdery wurR, ar
"9 § Sy (STaudic HrI-HRr) fdta fAygs & 9 & auf & o9 99R g &
T &F & U N IUIT AT I A TRAT, rpieT, 3R afamft smfvsr & w1 srum wad=ra,
SreAfraT vd efReET ¥ IftepR W Wik 2 7@ 3

Encoding skills involves:/ B (Tﬁﬁﬁ%ﬂ) Pl | zrr&m%
1. Listening/ 4dul

2. Reading/ UeHl

3. Writing/ [ECE|

4. Speaking/ drdqd

Choose the correct answer/ﬂ%’f 3} iﬁ



1.1 and 4/1 3R 4
2.2 and 3/2 3R 3
3.3 and 4/3 3R 4

4.1 and 2/1 3R 2

Correct Answer :-

. 3and 4/3 3R 4

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 9@ AR f3d T sgfaw«dt uzi o w8t
fawey &1 79q I

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR i FRAHIE (Afe W sRgHFaR A, e ord g arem w=Ar), smug o
U 9 aTdd Wbel 3R Aharagw & faal & SuahT & A1ead A T 9d a1 J9E 4 gan
I a1 g aF difeod o UgaH & $d DI Had 8| Ig qifod e & aTgd BT BT Hal
TIRIER & 316 Ued § Wlid, e, ThisH, url, Sdied, urawdat, ufagfly v < izg
Aisd 3T faerT o34 9l § Jar Rigiaer e W94, faeR a7 Bp1d ud 6 o aur
3= IS A1 YUTA TR TH @YUl Siia-T B @ o g8 gHIR -G g @ &f
IR &1 A GUSH TF 399 o+ # 90 §97a1 B IR # Hred (THifEm) iR fawre
(SRfET) Fizra WA &1 Fred PG & a9 T AGH, T fadisd s &1 3 a@
U9 49Ul § 3| HOR TP vl ufshar 3 forad faart &1 seH-verq farar wirar §; afe 33
THARWT IR a1 oY, @t SeM-Ue v wirar § R gar=n 3@ gt 8 1faer "R,
Ty ¥ Jaory (Saaudc sgfeer) fida faygs & 9 & auf § 99 9UR srsmgq &
TP &8 & ©U A IURT UT| 39 JHY TRAT, w1, 3R afémht smfver & =1 srom @z,
SreAfRar ud TefRugar & fierR W &k ¢ 37 1

It acts as a carrier of intended messages: /9g dif$d U & ATeP T HTU BT

g
1. Transmission,/ Gyl



2. Channel/H1&9H
3. Sender/U¥®
4. Feedback/WB8ad (JAMATM)

Correct Answer :-

e Channel/H1&H

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde ygs 9@ - @4 T sgfawed u=-i & w&t
fawey &1 999 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B ATaiids gfeUTaT 981 8, TP "ICT | Nfia sraurony, faftri ok srgwahT
T AT & Fad e $7 @ &1 "Wyar & f, Ut 7 e ICT uegwd uerH fean
o1 fora® uergeH & ft TRl § "Ue TR BT A1 AT, SR s 0 uT fr a g gur &
RITFTRU 3R fafiT UpR & saaci-e AT ard TR & 9 994 areit
weanfhifeal @ TwfRe A1mad 2012 #, e FRad A sz ot @ fafewr faemeat o
ICT &1 IUUNT 95 o fear o1 a1y, "wifer 3UR 9gd R ToRTtEs 4d aneffa &=
o g, ok of 2014 ¥ Wty yreTTaf A FrYfET e BT WA T F foT B S
reg=at # Hrger Rl & Wi 9 @ ufafafya sar 81 21 feawr, 2001 9 Iy
Y HETHHT A §PHed 56/183 FI srHITed par fod ol & a1 TS & ATHA Hiv[g
AR 3R FHIfaal W ==l F1 & fore fay Ju=n gure Rrer 9wieq (s afie siF g
SPTHIM AHTadl, (WSIS)) Smaifora @ &1 qudq foear mar o1 I1CT &t fay & uds
TI IRY YT 9 o R fedm & firg, "ad 2015 37wy WY ATl fdora
d&dl (MDG) &t Uity 3t JHg-aT g 59 wR ¥ 2000 & afy® Agasdl gad gv A1
" Td "R MRt Rien @ ardyifire uga, Ren & guran, quiear-gad iftemm
TG AATYH P YT, ATIR] & URIaR fIwRT a1 ifus gaf fRiem ya=e, e wd



UITE # AEM & gt 21 T g # ICT $! a¢rar 37 & e v gaudrard
TS HOT Sry=TaT B

ICT has no definition:/ ICT aﬁﬁi_qﬁfmqﬁ%
1. Unique/ 3ifgdia

2. Universal/?l'laf%

3. Definite/ fAf&d

4. None of these/ 38 I ®Is 7g!

Correct Answer :-

« Universal/3raifdes

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 9@ AR 33 M sgfaw«dt uz=i & w8t
fawey &1 999 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t ®ig qratfis ufyurar 98 8, FAfe "1cT & wnfira sraurony, faftrt o srguat
T AT B Fad faIbTg #= 38 &1 "HPdl & g, Jut 3 U ICT eI Wer- far
T foread uergerd & It wRl # "Ue TR &1 "I AT, 3R 98 09 oT fh 3wt e &
RITTRU 3R fafia PR & sAacif=e AeadT ard TaR) & JOH 991 aret
wrenfifeal @ awfa d1mad 2012 #, Iga A A sz ot {6 fafewr faemeat o
ICT &1 UGN 9= H feam 1 A1y, "wifer 3u1 9gd R TR 4d snapfia &=
forg 8, ok af 2014 9 Wty UreTTaf 7 FrYfET W BT YRT IRV IR T B S
regTat ¥ HrgeR URNHHT & wie 91 &) ufafafaad ovar 81 21 feawr, 2001 o Iga



Y HETHYT A YPHed 56/ 183 B AT fpar fora# ol & a1 HATS & ATHA HIS[G
SR 3R Aol R == #31 & foe fay = Jwe Rer g@ed (9@ Ife i g
S IHIHE HIITAd, (WSIS)) maiferd s &1 IAYA far war 411 1cT ) fay & v
AT IFY T 7 Bara 3R fedp & g, "ad 2015 37 G« Iy WewaTsd! fawra
d&at (MDG) &t Uty & gag-ftaT 3 v W af 2000 # 3fye Aqawal Tgud g A1
"gEAT TF SOR Wt Rien 9@ ardifire uge, Rren § wwrar, quiasr-ga siftema
Td 3ATY BT YT, AATIDI & UG I aur ifirew ger Rrenm va=M, g+ wd
WA ¥ GRTeH ¢ el 81 AT e § ICT &Y gerar 34 & RN ve Jwvarard! wd
TYSH TYHIVT =TaT B

On 2001, the United Nations General Assembly approved Resolution
56/183 endorsing the holding of the World Summit on the Information
Society (WSIS):/ 2001 P, YT AP WETHUT A THeU 56/183 B A fopar
ord fay = JuTe ReR @ (wsIs) A BT U fomar T T

1. 7 June/7 1

2. 21 December/21 f&dsR

3. 25 December/25 fdgaR

4. None of these/ 318 J ®Is g1

Correct Answer :-

« 21 December/21 fgOeR

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wmyde yeos 3ue HH fad T agfawadt uxei o w8t
fawea &1 a7 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations”, and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGSs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./



ICT 3t ®ig qratfis ufyurar 98 8, FAfe "1cT & =nfira sraurony, faftrt s srguat
T AT 8 Fad faerT a2 38 &1 "yaT & fig, Jul 7 T ICT Ugrgwd e fhar
T o eI H & It wRl # "Ue TR T "I T, 3R 98 09 oT fp 3 ot e &
RIMFTRYT 3R AT gpR & sAaei-e AHRET ard TaR] S I 991 aret
wenfiferal @ TR 1mad 2012 #, Jga Famadt A R ot P fafesr faemaat
ICT &1 IUGNT 95 H fear 91 a1y, "« 3u1 9gd R TRt 4d snafia &=
forg ", ok af 2014 Wy UreTTaf A FrYfET T BT TR IRV IR T B
reuTaf ® Hrge MUTRAT & Wi o & ufafafrra swar 21 21 R, 2001 ) Jgad
Y HETHT A HPhed 56/183 Fi srgHIfed fpar e oret & a1 I9Te & 61 Hivg
AR} SR gl W =l e & e fay gamr e RreR awied (9@ I e[ g
SWIURME THTaEl, (WSIS)) Smaiford A &1 a0 fwar mar o411 ICT &t 7Y & e
T ARG YT 9 o R fepm & frg, "ad 2015 7wy WY Wewdrsd! faora
d&dl (MDG) ot Uity 3t Jwg-ar 8 79 R ¥ 2000 & afy® Agasdl gwd gT A1
"G U9 TaR Wenfrat Rien 9@ ardifre uga, Rien & gurar, quaar-gad siftnm
Td S(EATUA DI YGIRAT, AATUH| & URaR fadra aur ifirew gar fRigm ye=m, I @
TR § ORTeT ¢ Aahdt g1 gAvap! g ® ICT &1 9erar 31 & e v gwiraTard) wd
TP VB U-TaT B

provided an ICT hierarchy:/ FICT YardshH Uard foar
1. Schemmer/ IR
2. Leagens/ @i
3. Maciver/ B&TgaR
4. Zuppo/Jul
Correct Answer :-

« Zuppo/Jul

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR 3 T sgfaw«dt uzei o w8t
faw ey &1 999 B3

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the



deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT @I ®I3 |ratfee afeurar =81 8, Fife "1cT o wfirer srauromy, faftmt stz srguan
U AT 8 Fad faer &% 38 81 "yaT & g, Jut 3 U ICT eIy e fhar
o Foraw uergewH & ft TRl § "Ue TR BT A1 o1, R g 0 uT fF a i gur &
RITFTRUT 3R fafiT PR & saaeii-e AT ard TR & 9 994 areit
wenfhifeal @ Twfe d1mad 2012 #, e Trad A sz ot @ fafewr faemeat o
ICT &1 IUENT 9 H fear o1 a1y, "wifer 3U1 9gd R ToRTEs 4d anafifa &=
forg 3, v adf 2014 ¥ I UreTTEl A FEYfET g HT W AR™ R fgaT 7 &
reg=at # HrgeR R & wie 9 @ ufafafya $ar 21 21 fiwr, 2001 & Iy
Y HETHHT A §%Hed 56/183 Fi srHITed fpar ford ol & a1 G919 & ATHA Hiv[g
SR 3R Al R == F1 & foe fay = Jwe Rrer gWeq (a@ afe v g
SPTHIM AHTadl, (WSIS)) maiford @ &1 gudd foear mar o1 I1cT &t fay & uds
TN ARG YT 9 o R fepm & firg, "ad 2015 37wy WY Wl fdord
d@&di (MDG) &t Uity 3t Jag-daT g 59 w* ¥ 2000 & afy® Aqasdl 9gad g¢ A1
"1 U SER Wenfiet e 9@ ardifire uga, Rren & Iwrar, quresr-gad siftrm
TG AT B Uraifl, Tyl & URaR fawr aur siftes ger fRuem e, wra+ wd
TR § GRTeH ¢ Ioal 81 ! e § ICT &Y gerar 37 & RiY v 9warard! v
TS EHOT Sry=TaT B

To help anchor and expand ICT to every habitable part of the world, "

is the deadline for achievements of the UN Millennium Development Goals
(MDGs), which global leaders agreed upon in the year 2000.":/ ICT &l fay &
TS ATETH TG U a6 Baq iR fer™ & fog, "ad I HYE Y HgwATd!
faora @sal (MDG) Pt Wity F1 Twy-TdiaT § 9 W af 2000 # Ay Agaspal Gerd g
"

1. 2011
2.2013
3. 2015

4, 2017

Correct Answer :-

« 2015

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawadt uzei o w8t
fapeu &1 g HI)

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,



Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B Aratfis ufeurar 981 8, FAfe "IcT ¥ wnfira sraurony, faftmt o st
Y AT § Fad s o @ &1 "yar & fiaw, gut 7 ue ICT vergwd werH e
o1 Foraw uergeH & Tft TRl # "Ue TR P A1 T, 3R 98 09 o1 fp 3 9t gur &
RITFTRU 3R fafiT UpR & sAacii-e AeawIdT ard TR & JIH 9914 arelt
wrenfifeal @ TR dimad 2012 #, JFga SErad T =i i 6 fafewr faamaay &
ICT &1 UGN 9= H a1 91 A1y, "wifer 3u- 9gd R ToRTES 4d snapfa &=
forg 3", ok af 2014 & Wy wreTTAl A FEYET WU FT YA IRV FR T ¥ S
regTat ¥ HrgeR YR & site 91 &) ufafafad ovar 21 21 feawr, 2001 o Iga
Y HETHYT A YPHed 56/ 183 B AT fpar fora# ol & a1 AT & ATHA HIS[G
SR 3R Aol R ==l #1 & foe fay e Jwe AR g@ed (a@ afe i g
P IHIHE AT, (WSIS)) maferd &3 &1 IwYA foar war 411 1cT ) fay & vde
AT YRY HTT 7 Bar 3R fed & g, "o 2015 37 WY« Iy Wewared! fawra
@l (MDG) &t Wiy & wwa-T 8 9 R 9 2000 # af¥y® Aqa®al Gedd g A1
"gEHT TF SOR Wt Rien 9@ araifie ugy, Rren § wwrar, quiasar-gad siftema
TG 3ATIH Pt UGTA, EATIR] & URIaR IRy auT i gef fRiem yawe, e ud
T § GRTE & Godt 81 gAw) e § 1CT &Y gerar 33 ¥ i ue gHudarard! v
HATYS TPHIUN Sq=TaT B

takes a holistic and comprehensive approach to promoting ICT in

education:/ ______ a1 & ICT &1 gerar 33 ¥ R te gHvamard td amus syt
SATAT &:

1. United Nations/ ¥gad 1§

2. UNESCO/ gt

3. UNICEF/ g%

4. None of these/ 3:|'~ef q aﬁ's‘ "-l'E?f
Correct Answer :-

« UNESCO/ !



12) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde g 9@ - @4 T sgfawed u=-i & w&t
fawe &1 999 B3|

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B ATaifes gfeuTaT 981 8, TP "ICT ¥ Nfia sraurony, faftmi ok srgwahT
U AT 8 Fad e &% 38 81 "yaT & fig, Jut 3 U ICT Ugrgy e faar
o fora® uergeH & ft TRl § "Ue TR BT A o, SR s 0w uT fr a g gu &
RITFTRU 3R fafiT PR & saaeif-e AT ard TR & 9 a9 arelt
wenfhifeal @ TwfRe d1mad 2012 #, e Fmad A sz ot @ fafesr faemeat o
ICT &1 IUENT 95 o fear o1 a1, "wifer 3U1 9gd R ToRTEs 4d anafifa &=
forg 3, v adf 2014 ¥ I UreTTl A FEYFET g BT WA AR™ X fgar 3 &
reg=at # Hrger Rl & Wi 9 @ ufafafya sar 81 21 fRawr, 2001 o Iy
Y AETHHT A §PHed 56/183 Fi srHITed fpar fod o<l & a1 G919 & ATHA HiS[g
AR 3R FHIfaal W ==l F1 & fore fay e gue Rrer aweq (s afie siF g
SPTHIM AHTadl, (WSIS)) Smafora @ &1 qudq foear war o1 ICT &t fay & uds
TIN ARG YT 9 o R fed™ & firg, "ad 2015 37 Ay WY ATl fdord
d&dl (MDG) ot Uity 3t Jug-daT g 59 R ¥ 2000 & afy® Agasdl gad g¢ A1
"geFT Td "R MRt Rien a@ ardyifire uga, e & guan, quiear-gad it
TG AATYH P YT, ATIR] & URIaR fIpRT a1 ifus gaf fRiem ya=e, e wd
YT A GNTeT € Tahdl g1 gAvp! g ® ICT &1 9erar 37 & i te gwIrarard) ud
TS EFHIVT SYTaT 2|

From the National Curriculum uses the word computing:/ GL @,
M UreTTat HEgfe g BT G FR!
1. 2010

2.2012



3.2014
4, 2016

Correct Answer :-

« 2014

Topic:- Grad_Child Care and Education

1) The tendency to use one hand in preference to the other is known as:/ Y

# F fdY e g1y & IuahT &Y urdfirear &9 $t gy &t ... w1 Sar 2|
1. Dominant hand/ 9T 81U
2. Auxiliary hand/ dgTded BIY

3. Handedness/ g<d-Utdr=adl

4, Egocentrism/ 3@ isdmaladbisdmdl (STNICSH)

Correct Answer :-

« Handedness/ g¥d-UTUTIdI

2) Anganwadi workers, Anganwadi helpers, Supervisors, Child Development
Project officer and District Program Officers are the working force of which
among the following organization/Scheme?/ mm GI'ITHE'I@?[
TP, THderd, aTd FIBr uiaieT STl vd Riar srded sifter), 38 & fra
TTS-1/ATST T PRITA 8d 82

1. WHO/ Ssgua3il

2. ICDS/ SISHISITH

3. NIPPCD/ THSfTSUIURITSt
4. CARE / IR (HIU3IRs)

Correct Answer :-

. ICDS/ 3EHsiny

3) Scheme of National Scholarship for Persons with disabilities functions

under:/ feaaiTem WP gl Ao ... & sta S Sl 31
1. Ministry of Social Justice and Empowerment/ JTHTfSI® <1g Td SffUHTIRAT Hare™
2. Ministry of Rural Development/ IrHi0T fasr Hare™

3. Department of Education/ e faumt



4. Department of Disability Affairs/ fqaaiire & favm

Correct Answer :-

« Ministry of Social Justice and Empowerment/ ITHII® <01 T HfARTIRAT HAT@T

4) Which among the following influences learning?/ 379 9§ &9 3ftFH &) yyTfad
Fal 32

1. Feedback/EIﬁIH@ (m)

2. Meaningfulness/ G{?fCI;UT?IT

3. Whole and part learning/ qul Td i@ Sifrm
4. All of the above/ B‘Cl?iaﬂ“\:ﬁ-ﬁ

Correct Answer :-

« All of the above/?q?iﬁﬁﬂﬂ-ﬂ

5) Which among the following is an important androgen that plays an
important role in male pubertal development?/ Waﬂ:ﬁtﬂﬂﬁmﬁﬁﬁﬁ

DI-I1 TSI TP Tgeaqut e fHumar 82
1. Estrogen/ T&ISH

2. Progestron/ Eﬂ@@"l&f

3. Testosterone/ TR

4. All of these/ IWRIad i

Correct Answer :-

o Testosterone/ R

6) Which among the following is not the objective of pre-school education?/

9 9 314, gd-faemerdt fian &1 Seza 8 92

1. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ ¥ & 3{wT ARIRG-TT3-, A-URE # vaf araad SR STURYd TATEd HId
ARSI

2. To develop rote memory in children/ =i o RGTHR @{ﬁrmﬁwm

3. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ Eekeal &ﬂﬁm SﬁT?-IIOHIQ Jdd orN:I, \LIJ-I%:I,
WerRA iR Fafd w1 § Arfee qa HaTds ulRusmdr fasfa &

4. To develop aesthetic appreciation in children/ ! ¥ Tigd W81 1 famr &1

Correct Answer :-



. To develop rote memory in children/ s= & RGTHR Wﬁmﬁwm

7) National Institute for the Visually Handicapped is situated at:/!‘l‘fm
RaIfa g o fR@ 1

1. New Delhi/ T3} fec
2. Kolkata/ HIdabTdl
3. Hyderabad/ JRIEI

4. Dehradun/ aéilgﬂ

Correct Answer :-

o Dehradun/ ééilgﬂ

8) The visual acuity of a legal blind person is not more than:/ faft® U g o %
faa it =P devrar ... & ufte 7 gidt g

1. 20/200
2. 20/150
3.20/100
4, 20/70

Correct Answer :-

« 20/200

9) Which among the following are involved in learning to speak?/ CIGEEIECE]
o g0 | B A1 WA gar 82

1. Pronunciation/ 3=RUI
2. Vocabulary building/ Ssarac fAHfor

3. Sentence formation, a1 fAATor
4. All of the above/ Ucrﬁaamﬁ

Correct Answer :-

« All of the above/B'CPjaﬁﬂﬂ-ﬁ

10) RTE Act stands for:/ 3RS &1 QT A9 &:

1. Right To Education/ I8¢ T TSbh R (FR1af &1 3IPR)
2. Reservation To Education/ RSTa=M ¢ T =H (Rrem & amrem)



3. Right To Entertainment/ IS¢ ¢ TexcHe (AR &1 UPR)

4. Responsibilities Towards Education/ YI-ufafac s gargy Tlh e (e & ufd
IRaTRE)

Correct Answer :-

« Right To Education/ IS¢ ¢ TIH <M (&1 &7 3fUPR)

11) Which scheme provides for accessible and barrier free built-in
infrastructure and transport facilities, supply of books, uniforms and
stationery, specialized learning aids and scholarships for students with

disabilities:/ - A1 Sr=raearsi & Wfea faenfiay «t g ve arer-gaa saf+ifia
gfard} eran ud ufvage giawns, geae!, Turawr vd aa--anrh, fafXw siftrm werae
SUBIUN /AT Td Brgial &1 urae= $vd! 82

1. Scheme of National Scholarship for Persons with Disabilities/ faeaite gTg Bm=ghi
BIEE]

2. Comprehensive Education Scheme for Disabled Children/ faaiT sTde! 8 U fRiafn
GrorT

3. Inclusive Education for the Disabled at Secondary Stage/ fgdta® fai1 ¥ faaiver
B4 JHTa=h e

4. Rajiv Gandhi Fellowship Scheme/ Ti1d TiTel ARy (@A) dromr

Correct Answer :-

. Comprehensive Education Scheme for Disabled Children/ fGaai aTeie! g U fR1&

12) Which among the following emphasizes the significance of Nursery

%chool education in India?/ 398 9 ®IH, 4R & TR faemedt fam & Aga W® g &1

1. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ ﬁ'ﬂ'l?lﬁtc@c(tﬁ ma&‘fﬁ [T B <R a1t at gt & fs
I &l HfUBIUS 3HT faU S Tavd

2. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ HRd & &l 1 3R 2 H A 3aary
T4 TTTeRIY & ForyenT Jepurd Tt faramerdt fR1em & wrend @ & o Iavct 3

3. The provision of Nursery school education is a social and economic necessity as
many mothers go out for work and there is no one to take care of small children at

home./ TR} fasrTerdt R &1 Urau™ T QoI Td e sa=admal ¢ #ifd agd 91 A
HTH TR TR ST § 3R WA B Tad! b1 SIHTA P oW Pis 8] g 81

4. All of the above/ Iudad Jat

Correct Answer :-



« All of the above/ Iudad g+t

13) Hearing impairment can be identified with the help of:/ %dur &iurdar &t
g ... Pt HHIAT A Bt T el B

1. Snellen chart/ Ao e

2. Pure tone audiometry/ Y[ ¥} S IR

3. Hoover Cane/ §aR §d (&)

4. Orthotic device/ 3{IUlfee (ST HT WRT & aTel) T
Correct Answer :-

« Pure tone audiometry/ g R YoAdNufd

14) Which among the following learning involves substitution and

association of one response for another?/ 38 3 {9 SR ¥ T& srgferar & R
W g BT UfaATI Te Hag fbar wrar 82

1. Trial and Error/ Wﬁ%

2. Cognitive learning/ SIS SHfUTH (Hifdfea @)

3. Classical conditioning/ FeRUfaf¥d PIRCINE (FATRID S DI+
4. Operant conditioning/ fohaTUId U (3MTURC dHaI=f—)

Correct Answer :-

. Classical conditioning/ FeRUTIST UT{b A (i el dheIRI-T)

15) The fertilized ovum is called a:/ fFAfRa 3 HIMST 1 ... Fad &l
1. Zygote/ gIHAS

2. Embryo/ YUl
3. Foetus/ T g

4, Child/ =1

Correct Answer :-

« Zygote/ gIHAS

16) ICDS scheme was launched on:/ ané?ﬂﬁw!ﬁw ... DI ARTH BT TRAY A
1. 2nd October, 1975/2 Ha]&R, 1975

2. 14th November, 1975/14 FdsR 1975



3. 2nd October, 1983/2 a8, 1983

4. 14th November, 1980/ 14 Fd&R 1980

Correct Answer :-

« 2nd October, 1975/2 38R, 1975

17) According to which law of developmental direction, development
proceeds from near to far- outward from the central axis of the body

towards the extremities?/ fawrara® foxn & fra gy & ogaR, oo it A @_-
TR B SR, TR & FfT o1ef I F1U-RY Y ok ghar @2

1. Cephalocaudal law/ Y- U= (haisisd) Fod

2. Proximodistal law/ SHIU-gRIMHHE (MifeHITS®d) Fod
3. Patterned law/ UfaaTfad @eus) fAam

4. Far- outward Law/ QX-Se4d! (BR-3M3edrs) Fad

Correct Answer :-

. Proximodistal law/ THU-gRINTE (WifaqaTsEed) Faa

18) Emotions at early childhood years are specially:/ 3RfR{® Teqerei qul d
YTaTe faRiy =9 4 ... g 7

1. Intense/ g
2. Balanced/ I=ferd

3. Subdued/ H<q
4. None of these/ Qﬂ'ﬁ@aﬁéﬂﬁﬁ

Correct Answer :-
. Intense/ dig

19) Pure tone audiometry is used for identifying children with:/ ... ﬁtﬂﬁ;aaiﬁ
Pt TgaH & T Y5 R yagarfifa (@R 2 Sifsaradh) &1 Iuai fHar smar 21

1. Hearing impairment/%dur &fturdy/aur Srfacd
2. Speech impairment/ dT% &UTdl/dTe ST
3. Learning disabilities/ 3 e riaddrafi

4. Visual impairment/ € &ftorar

Correct Answer :-



« Hearing impairment/¥dul &fiurdl/saur STfa

20) Ecological theory was propounded by:/ Urf¥fRufa® Rigia &1 ufaure ... gRT
foar mar

1. Vygotsky/ W

2. Piaget/ s

3. Maslow/ Heal!

4. Bronfenbrenner/ CIELEEEN

Correct Answer :-

« Bronfenbrenner/ SHBASR

21) Which among the following term implies the problems of the impaired or
disabled person when interacting with and adapting to their environment?/

38 A D91 Weg 30 URAY & 1Y SA=ATha1 $d Td IR ierd gid THY Sorar-u a1
SRIGd AR Y B ATl TS BT 3R Tbd Bl 32

1. Handicap/ fa®aimar
2. Disability/ RIeddl

3. Prosthetics/ SHAHNT
4. Orthotics/ ITffeaT (3T &1 BRI ¢ a1l T=al BT fagm)

Correct Answer :-

« Handicap/ fa@aiTdr

22) Which among the following is a type of Neurological impairment?/ Flﬁ'ﬁ
oI, afeera eftvrar o1 T v 32

1. Cataract/ Hifaaridg

2. Glaucoma/ &Tal Hifdn (’@'HT)

3. Cerebral Palsy/ THRASH AT (IS TTea)
4. Arthritis/ 3rRTsfew (fam)

Correct Answer :-

« Cerebral Palsy/ THRISHTETT (TS TG

23) While implementing the Juvenile Justice Act, the Central / State
Government and other agencies are guided by which principle of care and



protection of children?/ f&2iR =ama sfferan #! HTaifd #d THY, 5/ T WHR
TS 3= TSl S=f 9t I@HTE Ud ¥eT & fope Rygr=at & wrfeflfa gidt 82

1. Principle of presumption of innocence/ ey 811 &1 IuyrRun &1 Rrgra
2. Principle of dignity and worth/ TTRHI Td Hgd &1 Rigr

3. Principle of best interest/ garad fed &1 g

4. All of the above/ B‘Wﬁﬂﬂ‘v’[ﬂ-ﬁ

Correct Answer :-

« All of the above/B'W{[EﬂHﬂ-ﬁ

24) Children who talk either for their own enjoyment or for the pleasure of
associating with anyone who happens to be present and makes no attempt
to exchange ideas are exhibiting which category of speech content?/ o =
g1 d Fad W F 3T & forg a1 fipr fpeft 1R e, ot SufRua @) @ v faat & faftma
BT DS YT 81 BT, W TGS g1 & 3T & [ iad &, 3 91 faug-axg #f 579 3 fra
ATt PT Yo HT W B &2

1. Egocentric speech/ 3gdhi<=d didp

2. Socialized speech/ {-Ili-ll\:lnlcpd dld
3. Bilingualism/ fgHTfdar
4. None of the above/ 38 ¥ ®Is T8l

Correct Answer :-

« Egocentric speech/ 3gah{<d dld

25) Schizophrenia is a:/ HAifagadar (REwIfsm U ... gl
1. Neurotic disorder/ dfaeTdrdt fdbR

2. Physical disorder/ IRIR® f[dHR

3. Psychotic Disorder/ At fdeR

4. None of the above/ 378 ¥ ®Is -Tg!

Correct Answer :-

« Psychotic Disorder/ H%rd! fdwR

26) On hearing a loud sound or getting any kind of a physical shock such as,
when the support from the head is suddenly removed, the baby throws out
her arms and arches her back exhibiting:/ DI do wﬁﬁqﬁwmmwm



IR Smard @ W), 9 R @ 9gRT /s gel fog o w), Rg) sroet Y«rg a1eR ot
3R a5l A erar g SR -t $UR TS dd1 81 98 <=t ¥eT B

1. Moro reflex/ ORI Ufaad

2. Babinski reflex/wm

3. Grasping reflex/ UTe! (A& ufdad
4. Rooting reflex/ IK*ﬁ"c‘Iﬁ[ (=fem) gfdad

Correct Answer :-

e Moro reflex/ AR yfaad

27) Clearing the system of pent-up energy is known as:/ 3% &oll & o B
TP (@Telt) B 3 Bl Pgl STdl 8:

1. Emotional Catharsis/ HTa-Td® fdaeq

2. Emotional balance/ HIGATH® d]clH
3. Heightened emotionality/ Uafefd Gaimaedr

4. Emotionally perturbed/ HTaT&H® &0 ¥ &

Correct Answer :-

o

« Emotional Catharsis/ HIdATHD | CER

28) Behaviour in conformity with the moral codes of the social group is

termed as:/ AHTNS GYE $t Afde Afgarst & srgureq & yagR &) ... el 91ar 3
1. Immoral Behaviour/ KIEIRED (guﬂw) gdgRk
2. Moral behaviour/ 3fd® IagR

3. Unmoral behaviour/ AT (3FHRd) sad8R

4. Non moral behaviour/ Afd® @F-AR) TaER

Correct Answer :-
« Moral behaviour/aﬁlﬁ?il?:l_s’l?

29) In which stage of cognitive development children are capable of using
language and symbolic thinking?/ JITHTH® fa&TH $ 5T srawum # 9= U1 vd
YT fRiaa &1 U H39 & g9 g &2

1. Sensorimotor/ TAdGRTATHS (FUHICR)
2. Pre-operational/ Jd-fmardd®



3. Concrete operational/ 319 dfchareld

4. Formal operational/ 3N0=TRe Ifhards

Correct Answer :-

« Pre-operational/ Jg-dforarats

30) A child in pre-school age belongs to the stage of morality by constraint
propounded by:/ fa=Ta-qd 1Y $T S=I1 HRIY (@THT) F HRUT AfdHdT B 3raxiT A gt
3, 391 ufeured ... 3 fama ami

1. Freud/ %138
2. Kohlberg/ CANER]
3. Piaget/ oot
4. Erikson/ TR&IA

Correct Answer :-

« Kohlberg/ ®Ieert

31) A child who acquires a hearing loss in the first 2-3 years of life and as a
consequence does not acquire language is known as:/ 39 = &I T Hgil fordd
Wit & guw 2-3 quT & TSB! YT &HAT W & gl 8 3R ufRumya: g HTuTSi A8l B
TPT 3?2

1. Speech impaired/ aw-mf%aﬁa

2. Deaf/dftR

3. Hard of hearing/ﬁ?ﬁﬁmﬁﬁ%ﬂ/wﬁﬁﬂﬁw
4. None of the above/ sﬂﬁ*@raﬁéqﬁ

Correct Answer :-

« Deaf/dftR
32) CARE stands for is:/ %% (HT3RE) T QT A &:
1. Cooperative of Always Rendering in Emergencies/ ®1310fed 3 Hdael S8R 37

TSI
2. Consulting Agency for Relief Everywhere/ STt Toi=l Bk Relth THIdaR
3. Cooperative for Assistance and Relief Everywhere/ FHISHTRfeT B G{ﬁl@fﬂﬂgﬁﬁ?ﬁ

TataR
4. Consulting Agency for Recreation to Everyone/ FHHfecT Yol Wik fh TR QQE@TH



Correct Answer :-

« Cooperative for Assistance and Relief Everywhere/ PI3TIfca B R T Ralw

33) Which among the following is a HIV prevention program for children?/

A A B9 9T 9] DT TP T3NS A ABUTH HIUHH g2
1. Prevention of mother-to-child transmission/ Wﬁﬁmwﬁwiﬂﬂ

2. Inclusion of sex and HIV and AIDS education for young children/@%aﬁﬁﬁﬂltﬁ:{
e wd waanEd} qur vew e o1 gHETH

3. HIV testing for children who are born to women living with HIV/ Qﬁ&ﬂé@tﬁ‘%ﬁ%ﬁ@r
O I Bl TEITSd! S

4. All of the above/ Bmiaa gt

Correct Answer :-

« All of the above/ Iujad Tt

34) Infants belong to which stage of psychosexual theory of Freud?/ Jduild

R wTse & AARE @F:5HE) Rigia Bt e v & g4 22
1. Oral/ Aifd®

2. Anal/ ¢l
3. Phallic/ st

4. Latency/ Qﬁﬁd

Correct Answer :-

. Oral/ Oifa®

35) HIV cannot be transmitted through:/ Qir&ﬂﬁ ﬁq‘é’fﬂmm %I
1. Sweat/ T

2. Saliva/ @R

3. Urine/ H§

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iuad Tt



36) Dramatic play is also known as:/ ATC® g HIST Pl ... Wt pga 2l
1. Constructive play/ g TdS HIal

2. Make-believe play/ W-ﬁ%ﬂﬂ PIal

3. White lies/ & o

4. Free spontaneous play/ ﬂﬂﬂ@ﬁﬂﬂﬁ%{aﬁ@

Correct Answer :-

« Make-believe play/ Sdd-fay/ sigl

37) The child begins to represent the world with words and images which are
represented through increased symbolic thinking in which stage of Piaget’s
Cognitive Development Theory?/ ftaTe & S3Td® faera Rigia 1 fog s o
aﬁam?ﬁaq%mmﬁﬁﬁmw&wﬁﬁ%muwﬁgﬁﬁwﬁam
SRY Hdl 5?7

1. Sensorimotor stage/ TAGNTATHS (FTRHICR) AR
2. Preoperational stage/ Flﬁv_m‘{a; SHART
3. Post operational stage/ Tfopar-ugyrd Sawi

4. Formal operational stage/ 3T Tfgrar /@y

Correct Answer :-

« Preoperational stage/ Sfthar-qd s/@wi

38) Which among the following scale is used to assess the health of new-
born babies at 1 and 5 minutes after birth?/ 57 & 1 T4 5 e a1 7aua Rgyei
& WA BT ATHAT A & Fog 379 I fopry Fum= &1 Iy fpan wran @2

1. Vineland social maturity scale/ aigIds ATHIG TRUSHT THT
2. Anthropometric scale/ amﬂ’r (Q"r?ﬁfﬁ'ﬁ%) AT

3. Apgar scale/ ECITRaTI'FlT

4. None of these/ STH I P13 g1

Correct Answer :-

« Apgar scale/ TUTR QAT

39) The full form of ICPS is:/ 3TEUIUITH HT TRT ATH &:

1. Indian Child Protection Scheme/ &0 T1ETE UICaRM Wb 1H (MR STd I&T JiorT)

2. Integrated Child Protection Service / S¢RICS A15cs UeaRH Ifag (IRfdd Ta &1 )



3. Integrated Child Protection Scheme/ E¢RICS TT3cE UIcaRM Wi (THTHd ST 8T AIST)

4. Indian Child Participation Scheme/ 3fea a1g3cE UIERIUTA W (WRAHT 19 g HTRIA
BIEN))

Correct Answer :-

« Integrated Child Protection Scheme/ 3¢IUCS TTECS WICaRM B 1H (THTH T T T&T Iror)

40) Arranging things in either ascending or descending order is known as:/

ol B RIS AT SARIE! 57 | HARRIT B Pl ... FFT 14T B
1. Serialization/ SPHEG1/SPHID

2. Classification/ afi@ul

3. Identiﬂcation/&ﬁ\lﬁlﬂmﬁﬂ

4. Conservation/JR&ur

Correct Answer :-

« Serialization/ HSG/BHIDA

41) The Child Labour (Prohibition and Regulation) Act was passed in the
year:/ a1a@ 99 (Y g e sifuferm o .. & wifya gem un

1. 1980
2. 1982
3.1984
4. 1986

Correct Answer :-

- 1986

42) Which among the following does not stand true for Learning?/ ST

@fm & g 378 T 1 91 3T @2
1. Learning is a continuous process/ Gﬁm@ﬂﬂﬁm%

2. Learning is a gradual process/ &WWWW%

3. Improvement in performance results with practice and experience/ Mg GﬁT&IﬂHH

¥ U gRomy SgR Eld ©

4. Learning process always leads to boredom and fatigue/ SHFTH Ufshar ¥ Fag HRyan
(F9) 3R Fered ST g §

Correct Answer :-



« Learning process always leads to boredom and fatigue/ SHFTH Ufshar ¥ Fag FRyan
(F9) 3R Fered ST g §

43) Which among the following includes all measures aimed at reducing the
impact of disabling and handicapping conditions enabling the disabled and
handicapped to achieve social integration?/ 374 4 &9, 3= vd faswain w4
arelt fRuferay #t gem, 3R 31T Ta faawaiTT o1 St ATHTiTS THIHI0 Ui &2 3 & geH|
T R dfera g Sura e @2

1. Labelling/ T&eH
2. Rehabilitation/ ar g
3. Identification/ 3f=/agem

4. None of these/ sﬂﬁﬁﬁﬁ:ﬁﬁ
Correct Answer :-

« Rehabilitation/ garg

44) 1CDS scheme functions under the:/ 3TEASITH FISHT & 3r=aitd Bl
Pl gl

1. Ministry of Child Development/ H<d I1eH fa®Td Harerd
2. Ministry of Health and Family Welfare/ a4 Td URAR 0] HAT
3. Ministry of Women and Child Development/ﬂ%ﬂwwmw

4. Ministry of Social Justice and Empowerment/ ITHIIS® =10 T4 Hfeh1RGr HAred

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td aTd fadb T Hare™

45) Child’s understanding that objects continue to exist even though they
cannot be seen or heard is termed as:/ ¥ 9t 9g IHe, f gy faemm s+t gt
2, a9 +ft 19 I8 3@ I1 AT 9 51 AHdT 8, FT Hgare 3?

1. Fixation/ TR0 ((reizM)
2. Assimilation/ TERITA® U/ THROT (TRITHTRM)
3. Object permanence/ aﬁwﬁc_d

4. Mental equilibrium/ ATFRI® IHATaRT

Correct Answer :-

« Object permanence/ aﬁwﬁlﬂ






